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Dear Mrs/Mr,

If you’re interested in publishing Sudokus, but you are willing to offer your readers something
more special than a common Sudoku puzzle, please have a look at the tremendous number of
options Sudoku Plaza has to offer you.

First a little introduction: | have a technical background and am specialized in the development
of mathematical software in the field of civil engineering. As a great Sudoku fan, two years ago |
started creating a software application able to generate and solve Sudoku puzzles. Since then, |
have continuously been developing and expanding the software with new Sudoku formats,
concepts and ideas. The result is a powerful application that can generate customized puzzles far
beyond the scope of regular Sudoku generators that can be found on the internet.

Sudoku Plaza provides customized Sudokus in all sorts of variations, shapes and difficulty
levels.

You can think of a Sudoku in the shape of a company brand or symbol, a Sudoku with words, or
such a challenging Sudoku that even real Sudoku specialists will meet a new challenge. The
puzzles can be delivered in any format for easy publication in books, magazines, newspapers or
websites. In the attached document the possibilities are explained in more detail.

If you are interested in using my expertise in the field of Sudoku puzzles you can contact me at
the contact information below.

Application possibilities:

— Publication puzzles in books, magazines, newspapers or even the internet. Even Sudoku
specialists will meet a new challenge. A lot of experience and perseverance is needed to
solve the puzzles made by this software.

— The puzzles can vary in difficulty, so less difficult Sudokus can be generated as well.

— Puzzle contests, many of the variants can not be solved using the regular Sudoku software
the internet offers.

— Publication on the internet.

I have a technical Civil background and am specialized in the development of software in the
field of civil engineering calculations but also the integration and automation of various
industrial processes (administrative, financial, CAD/CAE, calculation etc.).

If you are interested in using my expertise in the field of Sudoku puzzles you can contact me at
the following numbers and address:

Sincerely,
Cor Smit

Phone: +31648704412
Email: info@sudokuplaza.nl
Address:  Beulekampersteeg 55, 3882 LJ Putten, The Netherlands
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1 Overview of Possible Sudokus

In this paragraph an overview is given of the Sudokus variants that can be made with the
software. Standard Sudokus can be generated based on the rule that numbers can appear only one
time on each row, column and block. Consequently you will find Sudokus where these rules also

apply to a pattern. This pattern is shown in colours and explained in other chapters of this
document.
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Traditional Sudoku

In general the difficulty of a Sudoku depends on the number of shown numbers. If many
numbers are shown special solution methods are not used. In Sudokus with only a few shown
numbers, these methods are only used when more simple solution methods give no result.

The following, advanced solution methods, are included in the software:
* Twins

* Triples

» Xwings

« Swordfish

« Unique rectangles

Smir'y Sndoku M Ciiprs

PITEN)
! 7 o [a 1/8(3|7/9|5]|2|4]|6
4 g 46213 |/8/1|5|7]9
7 3 2 719/5]6|4(2]8|3|1

a7 g | 3|2|7|1|5|6]4|9/(8
E 1 5/4|8]19|2|7|1/6/(3

9 4 3 5 6|/1/9)14|3(8)7|2|5

g T 8|3|6]5|7 (49|12
3 3 9|5|4)12|1|3]|6 (8|7
4] 2/7|/1]8/6|9]13|5|4

Figure: Traditional Sudoku and associated solution.

The difficulty of a Sudoku may vary, partly depends on the number of shown positions (in this
example 24).

The numbers as well as the positions of the numbers within the Sudoku are randomly chosen, so
each Sudoku is unique. If many numbers are shown only simple solution methods are used.
Creating difficult Sudokus (less numbers shown) the solution requires more complex solution
methods. These are only applied if the simple solution methods do not lead to a result.
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2.1 Explanation of the solution steps:

This chapter describes the solution methods used by the software.

Vig| Nr | Ry | Kol | Opl| Cd . B
7 1 2 T3 e Eamir's Spdoku Mg
L

2 | a7 ] 4 [>H
3489 >H 1
4| 498 [=>H
5 | 5]6 |7 [>v T 24
6 | 5|8 | 6 |1m 4 g
71593 [1m 7 5 21
g8 |67 7 [1m
9 |68 ]2 [1m 2|7 G
10897 |[>v
M| 9 1] 2 s J]2 1
292 7 |>H 9 4| |8 9|
13287 |#
14| 8| 4] 2 [#4 g 7
57 | 9 | 2 |&av g 3
6|19 6 |#v A4
17| 3 | 6 | 2 | #B J

Figure: The solution steps and associated Sudoku
Apart from the solution the solution steps can be printed as well (see figure above).

Step 1

Row/Column 2/3 one solution: 2, methodology ( "> B") In that block, the 2 can only be placed at
this position.

Step 2

Row/Column 4/7 solution: 4, methodology ( "> H") In that row (horizontal), the 4 only can be
placed at this position.

Step 3

Row/Column 4/8 solution: 9, methodology ( "> H") In that row (horizontal), the 9 can only
appear at this position.

And so on.

If there is no solution within one iteration step but some numbers at certain positions can be
eliminated, it will be printed in the following layout:

15 | 6 | & 2 | 1M
14 1 9 | 4 | 6 [ >V
326 TH-336 TH-396 TH-

15 1 1 | 1
16 | 4 | 9

>H
>p

After step 14 at position Row/Column 3/2 the 6 is eliminated, applied method is: Triple
horizontally (TH). Then at Row/Column 3/3 the 6 is eliminated, applied method is: Triple
horizontally (TH). And so on.
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2.2

This means that the shape of the visible numbers is predefined.

For example:
-1 2
1|2 9
8 ] 6 T
5 3|92 1
T 5 3
g 8 4

511 9

& 2 4

1 3|7

Sudoku in predefines shapes

Figure: Sudoku, with defined pattern (M and N)

This example concerns the letters M and N as an abbreviation of Mobile Netherlands.

Another example:

9

3

41

8

29

P | o | = | | = | D [T | L |22

9

b

[

ol | LD | Oy || e | oo = || P | 20 [

8 4

)

= L= A TR T = A ]

Figure: Sudoku, with predefined pattern.
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3  Sudoku with random patterns

In the traditional Sudoku each number (1 to 9) can be placed once at each: row, column and
block. This rule is also used in the Sudokus with random patterns. In addition, there are so-called
patterns, Contains each number only once. These patterns are indicated by a background colour,
grey, blue, red etc. The more patterns within a Sudoku, the less visible numbers are needed to
make the Sudoku solvable.

A great number of variations can be made, these are explained in next chapters:

3.1 Horizontal random patterns
1 1 1
2 8 5 2 B
5| |4 9| 4 B
rl13 AN 1. |a] ‘s|7] | B 7 _
3[4 z[s 3 —
5 2[4 1 5 5 —
T I e
4 4 HE 5 (3 7
8 B 3 T E 115
4 8j9[s lE 4 85| |4 3|

Figure: horizontal random patterns (1, 2 and 3 rows)

1 to 9 rows can be filled with a pattern. The example above shown Sudokus with 1, 2 and 3 rows.

1 1
3] [= 2 1 6 112197 13l6]2 85
z 7 |5(8la|19z|3]6]|7
7 g[1| © _ 3| [e8[1] 7 ) P AEE OB E OBE
5 B ] 3 B B 736 |1 |5 ]2
[ | B B BAAEEE
ﬂ 1EI 1 _ 3 1T |23 olelal1
B B BN 5[5 7 39|502(al7|e1]6
NE 3 5 g81(6[9|5(3]2(7 2
2 5 INED 3 [a(7(2]s[1[8[a]5]3

Figure: horizontal random patterns (4, 7 and 9 rows). At last the solution of a Sudoku with 9
patterns is shown.

1

2/3/1[5]9 8|7 6|4
68 4(7|2 1|3/9|5| [vig| nr | Ry | #ol|0Opl] Cd
_ 3 231_795346812 e e R
] 511 2[9 7 3|28 6 > T5 6 17 [=n
94 8 2|8 3|7
1 87 651 s 1913 | & oF
3 |7 " [376 P O 4 1915135 oV
b 4 9 6 | #H
z 129(8(5/7[6 2
5 |7 458l6(3 9|2 7[1 617 | 9 B
' T 2 2 a | #B

Figure: horizontal random patterns (7 rows) including solution and the solution steps.

Statement by the solution steps:
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Step 1 Row/Column 6/5 solution: 6, methodology ("> H"). In the row (horizontal), the 6 is only
possible at this position.
On position 6/9, the 6 can not be placed because within the red pattern a 6 is already present.

Step 2 Row/Column 8/6 solution: 7, methodology ("> H"). In the row (horizontal), the 7 is only
possible at this position.

On position 8/5, the 7 can not be placed because in the yellow pattern there is already a 7
present.

Step 3 Row/Column 9/3 one solution: 8, methodology ( "> P"). In that pattern (yellow), the 8
can only be placed at this position.
In the positions 8/1, 8/2, 8/4, 8/7 and 9/4 of the yellow pattern the 8 cannot be placed. Etc.

These puzzles can be generated with a very small number of visible positions; solving these
puzzles require several hours of intensive puzzle effort

3.2 Vertical random patterns

-
({5
o
-
ta | =]
w
[
L]
=
Pud | L3
-
oa
ﬁ

Figure: random vertical patterns (1, 4 and 7 columns)

The vertical random patterns are more or less identical to the horizontal random patterns.

3.3 Random patterns

Figure: random patterns (1, 4 and 9)

This method places the patterns randomly all over the puzzle.
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4  Sudoku with fixed patterns

In this kind of Sudoku, the shape of the patterns is predefined. The software is designed to
generate any thinkable shape of patterns.

Examples:
1 1 1 .

4 2
9 E 7l _ _
S 2 === e[ T W
1 g 2 3 5 |8
7 1 . z - 2ls _
] 1 4 5
o angflaseet = -
8 5 _ 1 _ 527

Figure: Four squares, twice X and +, Two [, one diagonal and two diagonals.

k|0 |22
-
%]
taa
m

[=r]
w

(8]

=]

Another possibility is to use the shape of characters. Can be the abbreviation of a company
name, magazine and so on.

For example:

31 5 B 214|317 6|9
E;q Bl1|(5]|4|6|8]2

5 68| Tl2]3]9 5

3 El7|2]3|4 8|1

g8|3[1]9 Il EA L
5 T d(6|9]|8|1|2]7|3|5
319 8 5 1 3|9|6]|7|8|4]8]|2(1
B 9|8 1[5|4]6|2|3]9|8(7
2 3|4 T(2|8]5|9]|1]2|4(6

Figure with M and N shape pattern.

Other variations:

2|5 2 2 5| |7
g|7| |8 2| |7 4
7 5 7 ol |8 |2
4 3 B 43
2 1 gl1(7]3] |2 6] |5
g 5 2 [ 4 4 8
2 7 1] |8 1 4 3
] 3 8 9 2 g
4 8 7
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1 2 6|9
3 4
5
2

3 1
]

514|6

|7

- [==] [#%)
o [ |l | =k
P

]

ol =l|m
L=}

tafm|w|foa
s

P ta | oo
L4 1]

=

w0k
=9

.

(1]
k| n f = o | =t |
Ao | =
(R]

E

(=]
Gl | fm | =~ |in|Cafka| = | D
=l P |
m

.

-
o o | ff e [on | = b | = Ra

b L
| -
o=~
= |

=]

Figure Sudoku completely filled with patterns, position within a block defines the pattern.

In this example is the first pattern (grey) always placed on position Row/Column 1/1 of a block.
The second pattern (red) on Row/Column 1/2 of a block. And so on.

An other example:

Vig | Nr | Ry | Kol | Opl| Cd
1 1 2 | 4 9 | =B
2 3 2 3 [ =P
: 3 ] 3 9 |>H
6 9 2(5|7]|8|3|6Q9|4]1 4 b 2 9 | =H
2 6|4 (1]9(2 7|83 [ 5 3 2 | =B
8 4 5 | 8(3|9|4 5(2(6 [ q 5 4 | =p
& 1|7]65 8[1]2 7 16 | & | 4 | &7
1 E. 1(9|8]|7 413|5 5 1 9 2 | #B
3 3|7 502|131 6|9 |7 q 3 1 5 | #B
96|23 |5|81(7 |4 10 [ [ 2 | =B
3 4 J|1(4]6(7|9)2|5|8 11 5 5 & | &#p
T|8[5]2[4|1]3]|6|9 12 1 4 8 | &p

Figure Sudoku completely filled with patterns.

Step 1

Row/Column 2/4 solution: 9, methodology ( "> B"). In that block, the 9 can not be placed in the
red pattern on top, it contains already a 9. The top row contains a 9; remains for placing the 9
Row/Column 2/4.
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Step 2
Row/Column 3/2 solution: 3, methodology ("> P"). only position in the light blue pattern the 3
can be placed.

Step 3

Row/Column 3/3 solution: 9, methodology ("> H". In the row (horizontal), the 9 is only possible
at this position. In row 3 the 9 in the red, yellow and purple pattern is already filled.

And so on.

An other variant is without the Block rule, so de numbers 1 up to 9 appear only once per Row,
Column and Pattern and not per Block. See example below:

Ch =1 | ) —=| & kI 0F| ],
(W0 R F == |C

9
8
T
3
(=3
1
3
5

= | | == B3| OO (L3 (R
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4.1 Fixed Patterns with common parts

In this kind of Sudoku the patterns has common parts (shown in yellow)

Sudoku: Solution:

M| o0 =] |oe]| | &N | =

h‘l
G
B = (o] | =l | C0

Ol lon | M| =D~

P =[S D 00| =] & 4| LR

el B B = e D R

QG| =] 00|

&=

o (O (k] el | G | 00 =~ P
| |G D |00 Cn [
(00 | R =] =i || O o |

See example above, The Blue pattern (6 positions) combined with the yellow positions (3) is
filled with 1 to 9.

3191
2185
714|6
916 |3
3|12|7
Same rule counts for the other three patterns combined with the yellow pattern.

Other variants:

8 ] 92 3
3 3|72
7 9
3 4 4 3
8|1 7|6 8
2 6
2 5 2
1 3 1 2
7 96 6 3

Page 32 of 158 version: 3.0 10-8-2014



Sudoku Plaza

5 2 4
6128
3 9 1 8
8 9 6 8
1 8 8 2
4 6 7 9
7 3 5
3 9|2 5 7|5
9 25
2 6 [ T
1 412
2 4 7 3
3 4 5
T 9
5|86 98
7 g 3
7 9 1 4 9 4
413 211 7(4 3

All variants can be made without the 1 to 9 rule in a block.

3 5
2 8 3
1 4|3
8
7 5
9 114
8
4|6 3 7 9
5 9
With six patterns.
3|2 411
9
2
7 4
81
1
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With five inner blocks, four yellow positions are overlapping part between the patterns.

3
1 7
2
8 [
9 3 8
8
6
2 15
4 9
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5 Sum Sudokus

5.1 Horizontal Sum

In this type of Sudoku, the sum of each row within a block is shown.

8

—

7 4 9

Vig | Nr | Ry | Kol [ Opt| Cd

1113 |5 |8 |1M
2|13 | 6 [6H |SH
3039 [2 [1m 1129736485
4 | 3 | 7 |1 |5H
o I B e s5lalaf1(9202[6]7
e 14 16 |1 |sH AEFRE] BB B EE
;2331’:— glal7]3l6|1]5]2]8
o |51 s |2 6511824739
0|6 |4 |5 |>H 23|18 5|719Q)6 (4|1
111 6 | & [ F | SH
29 5 11 v E1E AR LG
13| 4 | 9 | 8 | & G(11619 5130274
14 1 4 | 7 | 5 =B a|7|216|1]8]9|5|3
161 4 | & [ 2 | SH

Figure Sum Sudoku with horizontal totals.

Step 1

The sum of Row/Column 3/4, 3/5 and 3/6 = 17, that means that for 3/5 and 3/6 13 (17-4)
remains. The following possible combinations are available: 4 +9, 5 +8 or 6 +7. In position 3/5,
the numbers 4, 5, 6 7 and 9 are not possible, Remains the: 8.

Step 2

Row/Column 3/6 is now 17-4-8 =5 ( "SH" Sum Horizontal)

Step 3

The sum of Row/Column 3/7, 3/8 and 3/9 = 12, 3/8 is already filled with a 9, remains for 3/7 and
3/9an 1 or 2. The number 1 is already present in column 9 so 3/9 must be a 2 and 3/7 an 1.
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52 Horizontal and vertical Sum

In this kind of Sudoku the sum within a block, per row and column, is know.

Example:

Vig| Nr | Ry | Kol | Opi| Cd 1”-1;-9?35485
1 (11389 1M
71118 | 8|SV 5(8|141(9)1213(6|7
s | 7[5 |4 [>8
4 |7 |6 | 7 |SH r|6|3ja(8|5§1(9|2
5 18 1 5 |5 [1M 914|713 |6|105|2|8
6 8|4 [9 [sH
7 19 |5 |1 sy B(5|18(2)147(3|9
8 18 |8 |7 |2V AE3E] B E] RE
9 9|7 [9 [>n
10|09 |8 [5 [sH J[9|5)2 (4|78 1|6
1M |7 |7 |8 |8
2217 18 11 |sH SI11|6J9|5|342|7(4
1318 17 12 SV a|7|2]l6(1]809|5]|3
TIERERERED

Figure Sum Sudoku with horizontal and vertical totals.
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5.3 Horizontal and vertical Sum, including random
Pattern

In this kind of Sudoku the sum within a block, per row and column, is know.
In addition, there are patterns. All described in earlier chapters of this document

14 14 17
8 2 16 19 10
15 12 18

13 [ 14 | 18 Vig | Nr | Ry | Kol |Opl| Cd

. [ 1|54 |5 [m

2 |5 |5 [2 |[1M

16 3|65 |6 |1 |SH

4 |79 |6 |1M

8 5 |83 |6 [=H

6 | 8 |7 |4 |>H

20 ) 19|12 71888 [>H

22 8 |8 |9 |2 |sH

9 | 7| & |9 |sv

22 1 9 14 10 (9 |1 ]2 |>H

119 |3 | 4 [>H

14 22 3 9 12|19 | 2 | 8 [SH

13 | 7 |3 | 5 |8V

12 18 15 13 16 16 16 | 20 9 14 | 9 7 5 | 1M
4[3[71]|5(8]6]2]9
gl6|2]7[9]31]5]4
dHE B 7]8
512019 6|7
6|78 3
9[4[3]s 1[5
3)1]5]4 9|6
7/9(6]3|1]|5]4]8]|2
2|8 |a]s|7|9]5]3 1

Figure Sum Sudoku with horizontal and vertical totals and patterns.

Step 1

The sum of Row/Column 5/4, 5/5 and 5/6 = 8; possible in these positions are: 1, 2, 3, 4 and 5.
The sum of Row/Column 4/4, 5/4 and 6/4 = 22; possible numbers in these positions are: 5, 6, 7, 8
and 9 (6 +7 +9 = 22 and 5 +8 +9 = 22). At position 5/4 the only possible number is 5.

Step 2

The sum of Row/Column 5/5 +5/6 =8 - 5 = 3, so only the 1 and 2 are possible in these
positions. The 1 is already present in row 5 so 5/5 isa 2 and 5/6 an 1.

And so on.
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54 Horizontal and vertical Sum, including patterns, with
no visible numbers

In this kind of Sudoku the sum within a block, per row and column, is known.

In addition, there are patterns.

This is the most extreme example where all positions are covered by patterns, this makes the
Sudoku solvable without visible numbers.

vig| nr | Ry | Kot | opi| ca

1 1 6 | & 4 |1M

2 B 5 4 | #H

3 | 4 1 4 | #B

4 6 1 6 [ 1M

4] b 1 I | SV

4 651 TH-652 TH-661 TH-

6 662 TH-181 TWV-182 TV-

281 TV-282 TV-381 TV-

382 TV472 TB492 TB

6 5 [ 3 | TB

[ 2 3 [>B

g | 4 3 b | SH

9 1 419 6 | =B
1(a]s3[6|7]5[9]2
2(9(3]ale[s1]6|7
5|e|7]2]9[1]8]3 4
a(3|5]9f1fs]7[2]6
9|6 15
1]2]5|7|3|9 |48
A0 0HE GEE
3l7(1]8(2]|6]4[5]9
9567 |3]a]2]8]1

Figure Sum Sudoku with horizontal and vertical totals and patterns.

Step 1

The sum of row/column 4/8, 5/8 and 6/8 = 7. The numbers: 1, 2 and 4 are possible. The sum of
6/7, 6/8 and 6/9 = 21; possible combinations: 4 +8 +9 =21,5+7 +9=21and 6 +7 +8 = 21 s0
numbers: 4, 5, 6, 8 and 9. This implicates that at position 6/8, only a 4 can be placed.

Step 2

In row 5, the 4 can not be placed in columns 1, 2 or 3, the sumis 24 so only 7, 8 and 9 are
possible. The most right block already includes a 4. In the columns 4 and 6, the 4 is not possible
in the green pattern, which already contains a 4. So the solution for 5/5 is a 4.

Step 3

In row 4, the 4 can only be placed at position 4/1. In the most left block the green and red pattern
are already equipped with a 4.

Step 4
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The sum of 6/1 +6/2 +6/3 = 9, The numbers 1. 2. 3. 4 and 6 are possible. The sum of 5/1 +6/1 =
(17-4) = 13, The numbers 4 to 9 as possible. Remains at position 6/1 only the 6.

Step 5

position 5/1 =17-4-6 = 7.

At positions 6/2 and 6/3, only 1 and 2 arepossible, som =9 at 6/1 a 6 is already placed, (twin) so
at the other positions of the row, the 1 and 2 are elimina ted ( 651 TH - 652 TH 661 TH 662
TH) (T = twin, H = horizontal)

The positions 4/8 and 5/8 can also only be filled with 1 or 2. So these numbers can be eliminated
in positions: 1/8, 2/8 and 3/8. In the block, the 2 does not appear on the positions 4/7 and 4/9.
The elimination of numbers due to the horizontal and vertical sum is disregarded.

And so on.
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5.5 Operator Sudoku:

An Operator Sudoku is a Sudoku in which a number of positions are clustered, for that positions the
multiplication, the sum or the difference is known.

Explanation:

The sum (+) of the three positions marked with the blue line, is: 19.

8 6

» Solution: ks 8+5+6=19

The difference (-) of the two positions marked with the blue line, is: 3.

%
LI Solution:

The multiplication (*) of the three positions marked with the blue line, is: 54.

Vj

The difference is always positive, so 1 — 4 as well as 4 - 1 gives: 3.

3*x9*2=054
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5.5.1 Operator Sudoku 16 by 16
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5.5.2 Operator Sudoku combined with series

Explanation:

E
E

m'E
EE
] o o

LX)
'
q

_~.|m

=y
X
T

I E A E
[ 2 ﬂ T8
HMEUEHE
SISIysER

This Sudoku variant contains series that are formed out of three numbers and where the difference
between the first and the second number is equal to the difference between the second and the third

number.

I‘QIW o

2

For example:

12 3 difference =1
159 difference =4
5 3 1 difference = -2

Series can appear horizontal (background grey) as well as vertical (background red) and diagonal
(background green) .
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For example:

6 IL 8 135 135 11
dEE EIEH
!IHE
HHEE
A5 8
9 Hﬂj 1 2
S[1S[2 |6 [II\

Horizontal series: 357 - 642 - 159 - 642
Vertical series: 135 - 876 - 456
Diagonal series: 123 - 765 — 345

fof &

r.nIl _,.|| '

I-qlm tn§—x|m

m"“ -4" mll u-nl

1

-
+
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Can also been made in 16 by 16 format:
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5.6 Sum Sudoku witch the Sum as part of the Sudoku.

Explanation:

This Sudoku variant has the same rules as a traditional Sudoku.
Each number can be found once in a row, column or block.

Additional on some places, horizontal and vertical, the Sum of a number of positions is given in a
connecting position in the puzzle.

In the traditional Sum Sudokus this Sum is an additional value. In this Sudoku the Sum is part of the
Sudoku with gives additional solution methods. In the beginning of the puzzle most of the Sums are not
jet known and will be found when you are solving the puzzle.

The solution of the puzzle looks like:

96 54

NI INEN
o [Nk [0 o]~ =
N ol s W]~ o
© oo v N oo

o & lw[~lo ale |~

LAY SNET I NS

Blo o oo N|~
o ~N = s o|w

olwloeln N =N B oo

~J
N~

21 3

Horizontal the background color grew is used, explanation of the convention:

'2 1— 3 2+1=3. At2and 1 you will find a grew stroke at the lower part of the position. The
Sum (3) is given with a grew background color at the position of the Sum.

() |

Vertical the background color rose is used.

8

1

7 1+7=8. Atland 7 thereis astroke at the left part of the position, The Sum (8) is given with a
rose background color at the position of the Sum.
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Horizontal and vertical Sums can cross each other:

Explanation:

Horizontal:
3+1=4
2+1=3
Vertical:
6+1="7
4+2+1=7
1+3=4

The puzzle looks like:

8 4

o N

oo
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Relation Sudokus

Relation Sudokus

6.1 Horizontal relations

In this type of Sudoku, the horizontal relationships between the positions in the puzzle are
marked using "<" (smaller) or ">" (greater).

For example:

i. 4? ;5114??;12 a[7T6[5]9]2]e 13
Cpale ] T U1 B fees el
;E;éﬁ;é; 2183179416 [5]| (vieTw TR [KaiTopiTCa
LI fsfatstsisfres] R R
BESEEESINBRDENE S0 RN R
BESEEREE 51947 2[s 1|36 5 [ 42 [1[sv
T EEEEE 6l8[7]1]3]5]2]a]0 R B

Figure Horizontal Relationship Sudoku.
Explanation:

Row 1 the number in column 1 smaller than in column 2. The number in column 2 is larger than
in column 3, and so on.

Statement by the solution:

Step 1

In row 1, the 2 can only be placed in column 5 or 6. Column 5 exceeds column 4 and there is a 5.
In other words, the 2 can only be placed in column 6.

Step 2

In column 3, the 9 can only be placed in row 2 or 4. The nine must have a “>" (greater) at the left
and right side, because this number is the highest available number. The block where column 4 is
located, however, already contains a nine so at position Row/Column 2/3 a nine can be filled in.
Step 3

At position 1/3 possible numbers are 6, 7, 8 and 9; are greater than 5. At 2/3 is already a nine so
6, 7 and 8 remains. At position 1/2 (> 1/3), 7, 8 or 9 are availeble. The 8 is already present in
Row 2 and the 9 in the appropriate block. The solution at position 1/2isa7. 1/3 isa6.

And so on.
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Moreover, it is possible to show not all horizontal relationships but only a certain percentage of
the total, in the example below 30%.

} ;
{ 4 &
6 5 | 1
44 1|5}
6 108} | 7
3{< 1
3 1244
LR ' 77
6 9 P

Relationships can be combined with all the patterns described in previous chapters, for example:

-9

|_or,

-
L T s 1R I g I N S
4 ] | Bl | o, |
I T N N WV T E W
]
| ]
(=]

—

——1

2o | b

L ] e L e _.‘“‘_,__.r"h__,‘“_,_ _.r"h__““‘_,_
- 1 -1

—-—

(%3]

ey
(=]

=
e

—""N——l-./'—lu,,ﬂ' _l"‘""'|_—|""‘|—_|“",- e L
LN N B N I N R RS N
T N L B0 T I I

|

6.2 Horizontal and Vertical relations

In this type of Sudoku not only the horizontal relationships but as well the vertical relationships
are known; example:
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Moreover, it is possible to show not all relationships but only a certain percentage, in the
example below, 50%.

REEEN
!

RERREO

{ 4

T
- , ]
N m{h
i ("

12 { 4 N
(s} s |
P s tal |

Relationship Sudokus can be combined with all the patterns described in previous chapters, for
example:

5 3
| . e~
b
™ S ==

T Ly LT

BHESEEEE

In the most extreme form, the Sudoku can be produced with 0 visible numbers, eg:

T18(4)3 (112061519
J(G6|54 9|71 (2|8
219|116 |5|84 (7 |3 vig| 7 [ Ry | Kol | opT] Cd
al512[0 837 [1]6] ttstststen
B(1|7T5|2|649(|3 4 2 2[5 |9 |=H
913|611 |7T|402 8|5 21217 |1 [>H
4 [ 313 |1 |>V
RESAPRNE RIS N CFIE A B s a4 Tsbom
1(4|9)7|3|5)8 |6 |2 ?g:g’ﬁ
=1
ii;iiié; 5(7(8]2]6 a3 (a1 L £ 19 A

Figure relationship Sudoku without visible numbers.

Statement by the solution:
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Step 1
In row 1, the 1 can only be placed in column 5. This is the only position that contains the ‘<’

(smaller) sign in all directions.

Step 2
In row 2, the 9 can only appear in column 5. This is the only position that contains the <>’

(greater) sign in all directions.

This type Sudoku, the first solvable positions are the positions where the 1 or 9 can be placed,
followed by 2 and 8. The numbers 4, 5 and 6 will be places at the end of the solution.
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Corner Sudokus

v

The grey highlighted blocks are identical

411 (2|9]6(5]8(3|7
SI8[6|7T|2]|4]2]5]1

2|F[(5|2|1[B]|6(9)4

g|3(T|1[4)|2]|5|6]9
2151|618 (9|F[(4]|3

6|9 (4|3[65|7|1]2]8
S5|6(9|8(T|3|4]1]2
T|4(3|5[(2]1]|9]|8]6

112(8314|9(6]|3[(T|5

3

Ditto with three blocks

41112(5]3[9]|8[6(T
9|8 |6(7|4(1]2][5[3

2| T|5(6]2[(8]|1[9(4

Bl6|T(4]1 (25|39
215139186741

11943 |F[5|6|2(8
513|198 |6 (T |4]1(2

Fl4(1]12)15|2|19]|8]6

6|28 (1]|9(4]|3|7[5

4

1

3

3
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8 Relations within Sudokus

7]6[4[e[2]3]5]8]1
8| |6 5(9[8[1]6|4]|2]3]7
1]2 0l [12[s]e[5[7]|4 (s )
9 gl1]6[2[4[9]7[5]2

3| |5 8 3l45[s[7[8]9]1]2
2[7] |5 8 2|7]9[5[3[1]8]4]6
1]4] [2]|e| [5] [9]a[1]4]8[2]e[7][5

7 3 4[5[2|7[1]e]3]9]®
N ela[7]|s[8]5[1]2]4

In this Sudoku are six times two positions (colours: grey, yellow, red, green, pink, blue) with
identical numbers.

8 | [t]8][7]2]eTe]5 [8]4
2 4]3(2(8[1]5|7 6|9
3[7/4] [1 9(6(5(3/7(4[8[1]2

9[2 8[4[3[1]5[9[2[7]s
6(7[1]4[8[2]3]9]5

5 N 2/5/9|6[@]7[1]4]8

719 7][9[45]2[1]6[8[3

3 7| [s][1]8]9[6]3][4[2]7
= 4 [Bl2[s[7]4]8[9[5]1

This Sudoku consists of four times three positions (colours: grey, red, blue, rose) with the same
numbers. This Sudoku can be solved with only 14 visible numbers.
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Multiple Sudokus
Multiple Sudokus with common parts.

For example,

8(3[4|T7|6]2[5[3([1

1(5(4(2]8|7]3[6(3

9|8(2|6]|1]|3]|5(4(7
7|3/6/9]|6]4]2(1(8
B|F|3|5]|4]6]1([9([2
2(9(1|T7|3|8]|6[5([4
d(6|5|1|9|2|8[T|3

Sl2(8(1]|6|4]|3[3[TF
Bl1|7|5|3|B|6(4(2
4[(3|6|9|T|2[5(8(1

7|8(1/4]5]3]2[6(3
6|49 (2|8|T]1[5([2

3|5|2|6|9]1]8[T[4

Bl4[3[1|9|6]|T|B[2
7|8[2|3|4|6]9[5(1
9(1[5|T7|8|2|4]3[6

T|5|1|9(8[(4]6]3|2

B[2(9|3|6]1]4[8[7
1[(7[6|2]|3]|5|9(4(8

gla(a|6|4|T|2[1[5

4(1[(F|5|9|3|8|2|6]|9|5|4[3[1|7|4[2(5|9|8|6
3[(6(54|2(8[1(F(9]2]|6]3[5(4|8]|3[6(3]|F7|2]|1
2981 |T|6|3|(5(4]|8|1|T[6[(2|9]|8[T[1]|4]3|5

Gld[2|8|1]|9|7[6]|3

1[(9(5|6|7|4]|2(3(8|5|7|9(1(6)4]|3[2(5|7|9)|8
4(2(83|9)|1[3|5(6|T7[4]2]1[8[9]|3|7[1[6|4]2|5
J[6[(F|8|2|5|4|(9|1]|6]|3|a[2[F|5|8[4[9]|3]|1]|6

Bl4[3|T|5|9 (1|82

l1(2|2|8|6|9(T7[4

BI(T[(9|24]1]3[5([6

2(5(6|1]|3|7|8[4(9

7(3(1/4|9]8]|6[2[5

Saf4|5|6]|2|7[1][3

714

4[3

58
2

4(2

3

8

7

2

7|3

g

1

T3

9|3

514

1
3

1

3
2

(7

9

54

g
G

5

3

3
2

49

5|6

47

6

1

]
9

4|3

3

Figure: Five Sudokus with four common blocks.
The solving procedure is similar to a single Sudoku.

Multiple Sudokus With random patterns

9.1

7
1 3 i
3

1

g

1

5|4

4(2

5

A Multiple Sudoku can contain random patterns; see examples.
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9.2 Variants of the Multiple Sudoku

9.2.1 Three Sudokus, partly overlapping, side by side

] 2 2 5 8 |2 3 7 3 7|4 635
1 8|5|6|4]|8 9|2 5 G 7|4 3 315
5 4 B 8|2 1 a 2 7 4 837 ] 413 a
2 1 G T 1(8(4 1 5|26 4 5
3 5 8|6 3|6 5 9 a8 3
947 2 5|3 4 8|3 9 -1 6|1
3 5 4 ] 9|7 71 2
8 2 1 4 2 1|9 B a 4|3

1 3 35
T B ¥ 4
4 4 7|4 d
3 3
T 5 1 2
2B =]
2|8
2 7

All red blocks (three) are equal.

-] 2 3 2 -] 2
7 7 8
5 -] 7 6
9 5|3 ] [
4 3 1 3 2 3 4
-]
3 7 4 3 7|8|5 1
2 8 2 3|6
2 9 8

3 B
4 5 7|98 34 2 1 g
2 3 2 1 . | 2 5
17 3 3 4 3 3|3
3 2 9 2 86 4
B alil2 2
5 112 116 5
4 418 7|5 g 301
1 4 1 5 3
Fil 893
T 1 B
T 1 B fill =]
42 9|7 B 3
ala i o oz 1
5 3|8
38 94 3 B
g 415 1 5 il 4
711 1 T 1
3|76 5|2
4 1121816(712 2 1 A

Page 55 of 158 version: 3.0 10-8-2014



Sudoku Plaza

il
< diai ,_‘n-‘_—_.'— e+ I i
_____ - P r.lfr\l_‘”'- T

),

? ?9 E’Eﬁn‘ i-'..'.';lT’ﬁ —

9.2.2 Nine Sudokus, partly overlapping

5 8 7[3 5
50 [7]a] [6]3 B
§[2 37 AAE 6
3|7 5 9
74 5| [6/2] (8] |3 6| [4]1
59 8 1|8[4]5]2
6] [1]2 6.5 7] [1]9]6
29 1]4 8 2
7l1l6] 13 408 1[2 9
115 7] (68
8 9
58] |4
3 4 511 [3 2] |9
6[4 8 8
4[5 gla] [1 5241 8
2 gl |7 1 8|7
gl |2] [7]9[a 8
96 gl2 1 6] 19]7[3 1
3/9] [6 4(3 6
6| [8l4] [2]7
8 5[ 17 9(3]6 2(8
6 3 (2] |1 3 61
9/5]4 2|3(8 4 1 3E
7 8 9] [4
9 1 4(8
9 1 5 711
2| |8 9lal6 4(5] |6]9
Five
9.2.3 Five Sudokus, in a ‘+’ shape
1 il E
2 3 8
g]6 5
B 1 5
T 4
4 g 3
6]4 2 B T
T 1(3 5 4
Fla]e|1]|2 1 2|68 ]
8 7|8 3 5 2
4(8]1 203 2 B 3
B 3 1(89 12 B 79
] 4 8 24 8 3
6|1 2 4
34 5
B 2
2 alals
B T
4 3|8
T 5]9|6
6l3]4 T
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Four Sudokus, with a common middle block

9.24

& |

_.)__—_H_

5(7

9]7|6|5

1

&

B

2

T2

1

412

2|4[(1[(5|T7|9|6]|3[8
3|9(8[(2|1|6]|56|7[4
7|6[(5(3|3/4]9]1([2
9|7(2[(4|8]|3]|1]|6([5

1|8[(4[(6|8|F|2|9([3
5|3|6(9|2|1)4|8(7
2|2(9(T7|6|5|3|4(1
A15(3(1|9|8|T7[|2([6
Bl1[T[3|4|2]|8]|5([9

S|T[6[(F|4|2]8]3([1

2|15(3[1]|9]|8[6[7|4
B|1|4[2|7|6|5|2(9

G|2|(7(4|8|2]|1]|9([5

1|14[(9[6|5|TF|2|8[3
5|38 2]1]4]|6(T
4|19(2(T|6|5]3(1([8

718[(1[(2|3|4]|9]|5(6
J|6[5[(8|1)|9|T7]|4[2

3(6(9|5(4]2]8[1([F

Bl4|1|3|7|6]|5[2(9
2(7F|5|8|1[9|6/3|4

7T(5|2|4]|8]|3[|1[9(6

192|465 |T|2[8|3

B(B|3|9|2|1]|4[(7[5
Bl2|8|7|6|5|3[4(1

5(1|7|2]|3]4[9([6([8
4(3|6|1]9]8[7[5][2

9(4|1|8]|3]|2|T[5([6
2 (6|7 |5]|9(4[8[3(1

BlE|3|1|7T|6|9[2|4
G|(F|2|4]8]|2]1[9([5

1(9|4|6]|5|T7|2[8[3

3(8(5 (9|21 ]4[6([F

4 (2|83 |7T|6|5[]3[1(9

5(1(9|3|4]8[6[7[2

Tl3|6|1211]9]5(4(8

Two Sudokus, with common blocks or edges

9.25

Common blocks

(1[(2|6|5|3[7[9[4
S(6[(F|4|8|1]5]|2]|3

Gl4[3|T7|2|9]8]1]6

2(9(6|8|7|4[1[3([5
3|5[(1(2|9|6]|4|T|8
4[(7[8|3|1]|5]|9|6|2
G|a8[3|5|3|T7|2|4]1

1(2[(4(9/6|8]3]5|7
7T|3[5|1]4|2]|6]|8|8

g1 (2([3]|6|7|4]9([5
9|6 (T[(2]|5]|4]1]3([8
5l4(3[8|1]|9|7|2|6

2|3[5(1|7|8|9]|6([4
B|T[(8[9|4]|2]|5|1]|3

1|9[4[5|3|6|8|7|2
3|8[6[(T|3|5|2|4]1

412 (3[6]|8]1]|3]|5[T
7i5(1(4|2]|3]|6]|8|59

5

1

7

4

Common edges

o

8(1|2|2|6|7[(4(9|5
a[6|7|2|5]|4[1[3|8
Gl4/3/8]1]9[7[2]8
2[3|5|1|T7|8[8([6|4
G(F|3|9)|4]2[5([1]3
1(9/4|5]3]|6({8([7)2
3[(8|6|T7|9(5[(2(4]1
4(2|9|/6]|8]1[(3(5|T
7{5/1/4]2]|3[6(8]9

1]

Gl3|7/9)4]8[1[2]6

11914|8|3[6[{5]|7|2

8(1|2|2|6|7[4(9]|5
a[4|6|1]|5]|2[7[3]|8

2(8|3|T|1|5[9[6]|4

G(T|H|2|9]4[8([1]3

3[(6|8|65|T7|9(2(4

412|19|6|8(1[{3]|5]|7

Ti5/1/4]2]|3[6[8]9

3

il

Tl4(5

1

2

5|7

Tl4|5

2|3

Blocks with common middle parts

413

g

1(9(3|2|4|7|5[6(8

El8[5|3/1]9]4[7[2

S5|3|4|8[6[1])2]9|T7
B|7[(2/4|9]|3]|6[1([5
9161115(7[2

TlS[(6(1]2]4]3[8(3

3|2(9(7|8|6]1[5(4

2(4[7|6|8(8[8[3]1

4(1(s8|9|3]|5]|7[2]6

3(1(9|4]2]|8[7[6

T|6[2|8|1]2|5[4(9
1]4[8|6|5|9|F[2][2
o534 2|7]1[6(8

3|1|4|2[7[8]|6]9|5
B|T(6|5|9|4]2[1]2
2191511(3[6]4]83|7

5

G|2(9(7|8]|1]3[5(4
4(a3(r|216]5]9[211

B

9

B
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9.2.6 Five Sudokus, with two common blocks

There are two variants available, see below.

Swit's Sudofmw  191-2007

26 Ciffers

5 1 118 8
8|9 2 9|6 T 4 9 4(2 117 3
3 4|7 3 3 6|2 4 1
5 1 6|8 8|1 9|2 B |3 2 5 2 g
9 8 2 9 7 5
5 2 8 4 3
4 8 1 916 |4 3
1 9|6 3 719|4 6 4 a a8 g
7] |4 4 a|l (7| o T 5
6
3 g 5
9 8
5 4 1 8 g |2 1
1 71 4 1]4] |3
92 6 [5 3[7]2 1 al (s |7 7 i
8 4 4 7 7
8|6 6 3 5
7 9 3 7 3 ) ] )
3|4 1 314 g 2 5 1
821 2 6 3| |7]5 7(3|8|2|9]1]|5
8 3 5 [ 8 7
9.2.7 Five Sudokus, with common blocks at the diagonal
The blocks are identical per colour
First variation:
9 3 9
5 T 1 9
B 213 1
4 3
3 113 8
g 2 T2
4|9 3 T 9|5 B 2
1 54 3 2 T
Tl2[{6]8]1 5[4 26 3
T 3
7|2
1 a3 T
4 B 9
6|89 3
4 2 B
113 5 1
2 1 T
4|9]5]3 3
3 5 B 3 2|5|4
216 21119
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Second variation:

The blocks are identical per colour

7|4(2(8|85]|1]3]|9]6
S(1(8/4|6]3]|6]|2|T
B|3[5|2|T|9|1]|8]|4
BlA[1|/3|9]|6|T|4]2
46| |8|2|T|9(1]8

2(7|9)1|8|4[(6(3|5

112(5(4|3]|8]|9|T[6
J|6(4|T|5|9|2|8(1

BlalTI6|1]|2]5]4]3

B|7[(6[1|2]|6|4]|3|8
2(8|1|3|6|4[7[5]|9

5|4|3|8[8]7]|6]|1]2

B|6|3|T[(1]9])2)|4|5

115(9|/6|2|4|8|7[3
T|2(4|5|3|8|9[6(1

411 |2|6(5(8[7]9]3

9(8|6]1|3|7[5[2]|4

3|7T|5|2(4]9]|8)6]1

7(9|3|4|1]|2|6|6([8

(2|49 |8|6(1[3]|T7

BlE|1|3|7|6|2]|4]8

GB5|8|7F|9|a[4[1|2|8|5|T|3[9[6|T|4|2|8[5(1

1(3|7|5|2|4|9(8[6|3|4|1|65(2(T7(9/1]|8]|4]|6[3
2419181611 (3[7|5|2|9|6|1|8[4|6|3]|5]|2|T7[3

35618141 2(9|F|1|6]|6]|4]|3[B[(9(T7|6|1]2]5
48|97 |2|5|6|2[(1/4|8|2|T7|5[(3(2|8]|1]|3]|6]4

171219162 |6(4[8/9|7|2]|6(1(2/5/4]318]8]1T7

Bl(1|4|12|9|T7|3|5][6

T[2|5|6|3|1]|4]|8[5

al6l3|5/418]1]|7[2

2(9|F|23|5|6(8[1]|4
6(3|1|418|9(7[2]|5

51418/1(712]9]6]3

316

g]1(3[6

1

5

7

Third variation:

All blocks On one diagonal are identical, the other diagonal has two times six common blocks.

Bl5|1|T7|4]|2

gl5(1|T7|4]2

4(6]2|9]|1]8

2(T|9|6|3]|5

Gl2({4(9|8]|6]|1[3[7
Bl6[1|3|T7|6|2(4(8
B|S[8|T|9|3)4[1[2
1[3[7|65|2|4|9(8([6
2(4|3|8|6]1]3[T[5

T(9[3/4|1]|2]|6[5([8

6|93 |4|1]|2[T[5]|8

5l|2(7(9|8|6[(1[3]|4
Bl4(1|3|T|5[2[6]9

4(1(2|8|3|9([5[6|T
9(8[6|T7|5]1]2(4([3
J(T[5|6|2|4(1]8([8

GIE(Fl|4|1]|2]|8(3(8
2(4[(3|19|18|6|7[5(1
1(9[8|3|7|5|6]|2(4

8(3[9|5|6|T|4[1]|2|T7|5|8
T(e(1|2|4|3|9(8|6|1]|3|4
G{2[{4|1|9|8|3[F|5|2|6(8

1(6[(5|4|18|3|2[(9|F|6|9]|3[4[1]2|6]|5[8[7|9|3
B(7T(4|19|5|2|6(3[1|5)2|7[9[8]|6]|1)|3[T[5|2)4
320|716 6(4]18/8]4]41[3[7|6|214[0[8B]6]1

4[(8[3|2|19|7[1[6]|5
S(5(2|6|3|1]|8|7[4
7Tl1(6|/51418]3]12(9
2(3[F|1|6|5(|4]|8[3
G(3[1|83|7|4|9]|5([2

548|329 ]|7]1[6

5

1

1

1

5|2
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9.2.8 Six Sudokus, like the 6 sides of a dice

This Sudoku is based on the six faces of a dice. Parts of the Sudokus with common colours are
identical.

ANE 1 1 5
ARE B 8 1 |2
gl [7] (2] [5 5]7]z2 1
5 AE AHEEE
alal1]s 2 a1z |7
B g
1]a 7 1]s
5 4 AEE 7|8
5 HAE B B 2 1
NEE AE 1 EE-E
8 1 gls
5 3 5
2
AEBEE 2| el [1] |8
3 5 7 NNE
5 B B Z 7
B 705 3 12 5
5 5] (2[4 5| |2]9]1]6

1 1 8
8 1 8 T
7 9|3 1146 7T|5[6 4
8[(6]|2 8|6 g
115 1|5 8 (7
1 93 4 1
2 1 2 B
-] 7|5 -] 2|75
5|7 3|9
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10 3D Sudokus

This puzzles consist of three Sudokus which defined relationships. Relationships can be edges,
or blocks.

3 B 2 B 5.8 9178 1,472
5 1.7 68 2 5 AT A Bﬁﬂafg
2 5 1A Wﬁ3/{
7777 YT ATATAVATAYL A L
1 4. 37 5T AT /KE 1,% 74 2,075 ﬂﬁ:‘( :
p (% 1 e P W V] m442 113
57 7S 5| i A7 VY VWA Vv S S
g /’,{35 5 e 1 A8 T A A ek
1,712 7875 R 2{//;/
7 < 3128 [s[7[3[9]¢c [etils m{,{/f},
T[s 3 114 »ﬁ/,{ ?5353511414,{{}-{44/
3 4] 4] 52?13354554{;';{{,{
B ] 349 1355?425:*{4%—;-{
5 3 > 41 53425.;?31‘15’;?/
T 255?4153;:45}*
2553 : AEERREnREaPd
7 (2|1 [3lelz]5]7[2]%
1 B 5 7

The neighbouring edges of the 3 Sudokus (grey areas) are identical.

/ 7,/ /245 )/

5
S AANAS T 9%
(8 A5 L T 51
A A
5 /6,2 }4 / {2/
3 G 714 |18 /|
: A2 M
E eyt
3| 2 71 5 /{/1/535
/
5 2 68 7
6|7 8 2 | 1 // 5//
28 7 479 }/
B 8 6| 1
AnEU L

The middle parts of the blocks (conform the Colours) are identical.
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/533 412/?/&“./5/33 9/

7./4 w12 9/4 3/2/4 1/5_ o ..n./

o /1//1 ﬂﬁ_ A N\ © e \ e NN

_349//957/ P N 0 0 N N e e

///14/391_

o™ / W |~ |~ [N | (o | (= |

3/Wza/a4

© / w o | |o v |~ = | |™
w1 /2

%ﬂﬁ//ﬁﬁMﬂ/ﬂ. @ N |4 |~ @ |~ |© 1

/95ﬁ/455235943_51;1
Note N

/ﬁ/nﬂﬁ o o [~ |= [N [ Jo oo (=

oo et (=]

V14 < [« (o |~ [© v |» [0 |«
?239435?1235
5312359435?

e i il A

All grey blocks of the 3 Sudokus are identical.
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11 Escher Sudokus

This puzzles has five Sudokus which common parts. Common parts can be neighbouring edges

or blocks.

Inspirited by the Dutch artist Escher.

PO N P P PR P PO ?_/.Ae - iuann/al/z.uu
S R R 3 o TN
R R SN e
L T I O R I PP IO Tnnm../ nufznu - Effm,./.m.. b= i//nn
i G el G G R R N ) 553 ?/.mufnn 3/4/4 E/Qf,mn
- [ [ | e [ e | = T ﬂ-/ NG 0 N2 g N
e R e eSS e
EET ET EI PR IO o RV P n...,-./cruu ﬁm _._l__.,,fmaffmc i..f,.mu.,fmu Jl.,,fﬁ.....,fmﬁ
— = |#w | | | |- |ed |ew nn-r..nn/i Ac/ﬁr G.zf? =t _.1../;.-._ B/Aa g
P P PP P R P N ii.ﬂ,m,ﬂ,iw o = = | |ea | [ [& |
1?52431=E54.m,ﬂ.mﬂﬁm1 FPR P ey v R P
35?2542.%1”451““55Mx,y315m,m t= Jeu [ Jen |=t | |= [ws |es
SK/.E - 85,,;,6 e i Vﬂﬂ.ﬂ.i i = | oo | | |t | e
1!:,,.......!.,...."_ T..,f,m.‘.ff.".u o IR B B AV o
SR eRvei e N i N 2 S S A
iffqaffi i 1!;.,5{ £a el e |es [ea = | |= | [ |+
{31 ERN T e i L Ll Lo i R L Lo L]
- |= e | e Lo /,,..H
e S
- | B./lﬂl e
n . o N i
- o R N 2 e —
| e i
i o |uw o | 4/ e fzmu P ™, 28
— un | R_._ﬂ,ﬁ.u./ M -
LI O PP B 1;,../._ﬂ., >
A = T./... Aﬂ, = [w |ea
< ...|s 5_.1__ ...././.,.HA._/ H 3.4?.1 =
T <N - -
SIS N, |
S S SN T
NN DN I
U e -

Example, total of 5 Sudokus with common neighbouring edges, shown in grey.
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51?35234323454 Aﬂ”/.lvrb:-._ o4 pa -4/1/4).
O I P i O PP E i 32W2A3M45T|235343
e N AN e o
S S R e S ER R -
E..ffr..l,.rfﬁr o .l.,.frrs £ L, B n.ul—.av.rdﬂ
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.,/.ar R W e B e .4.-___.- e |um Jes |ea |ed =t | |em
©
A o | i ./4.1 =
- ™
il N ol
54,// " o5
- i “ \ WV ﬁ ot N
=+ .f/ > - -
2.3_ w A.../ J/ﬂ ﬂ.z — —
S = //
RN o o
NS N N ™ - -
NS S, ™ e |
S .

All 15 grey blocks are identical; this puzzle can be solved with very few shown numbers.
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12 Double Esher Sudokus

This puzzle have ten Sudokus which common parts. Common parts can be neighbouring edges
or blocks.

3// : 9 (2 : 3 -
/{;/ T
/| AVIE 1|6 2 5
// o 183
A1 -
A 5
B/ {// /45 1 A ERE
//// 516 4 }/{//?/ 3 4
Y 3 7 3 /} 49 3 = =
4/7 bl : N 7737 A7 267
// /-// 7 5 a // /4// 35 1%
/{ /} y 7 : 3|4 ; ’ B} 9.1 ///E; /4/// /{ //
Agyrdgrg s oV v vy e 9%
615317 /1 A 6 1/ // (1]
/354/7 3 1 3 7.1,/9 /4///{ 4
/4/;43}/3/ /8 /ﬁ? 1 7|2 ! ; ;?//4/5/4{
/] - i 7 7 77 6 718 4 3 }2{{/?
NV T AT 77 A B N A 6
apc 8.79,/7 /6 s/ 7 1) 5 (7 2 /{//}/ L/
3}/? 4//4//‘/ L1/ // 36 4 5 ////é/
6, 74,717 A7 A 2|r|s ////
37 17 ?/42//4 g 6 : //
4|1 3 9 ?53/% /| il® 1 3 : /
3 62 4 §/;/3/
73V WV 4
6 3 5/ e
T HA P
18 9.3//
- .

All 30 grey blocks are identical.
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Example, total of 10 Sudokus with common neighbouring edges, shown in grey.
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13  Nine (3 by 3) Sudokus

These nine Sudokus are defined which Multiple common parts.

4 3 4 5 a
5(3[8 5 a7
4 B
3 2 3|6
1|5
2|4 1 2 9
B 3|6
1 g 1 8
7
2 3|8
5|49 a|5
1 2 1
8 8[5 8
1 2 9 1 g
1 4|6
3 2
9|1 1 3
T 2 B
2 6 3 2 3
5 3 3
9
2 8 B 2
3 3 1 3|7
1
4 3 2 8
7|5 1 3T 1
1 ]
All twenty-seven grey blocks are identical
3 F T T 3 4 F] g1
71 5 & 1 F 4[5
5|2 4|8 F 4 & 3 &
4 112 E1E 2|5 4 3
3 2 5 5
3 3 4 3 4 5
F il FEIE HFE 1 FEIN E]
[ T 3 1 2
[ F 3 T & 712 1
T & -] 3|3 3 & 1]3]5
4 [] E] E] T & E] F
3 1 2 [ E]
3|7 |8 3 4 3 & 5 1
3 FALEE] T & 3 1]&
711 [ [ ] 3 2 3
5 211]4 3 4 5
3|1 ] T 4|3 |8
5 ] 715 1 5 4 [
3 [ E] [ T [5 1 T
E] 7|1 CAE] i
3 1 7|24 & F & &
3 HEIE FE 5 3 [
2 3|7 ] 5|37
711 3 5 T 413 & 4
314 F [ & 3|1 3
[ 3|5 T 1 I|4] (2 4 112
g Tl&) [8[1

Nine Sudokus with four inner Sudokus (grey coloured), total 13 puzzles.
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HE B ELHE

HEDELEE

HEHEEL

E|2|&|5]|9|7

1

1
2
2

FGAEA EIEIL

1T|5]|2]4[8

3

I|E|2[9]|&]1

TIS|E[2|1]|2]|c|4)2

4

1

2

HEBEB BB GEHER
TIS|&[e |1 |2 [S|2|T|4[=5]5

43|57 |92

I|9|E[=]|7|E

S|2 T[S |4 (T|T|E]2[1]%

1|84 [1]|2]|3[5|5[4]|T[=]|3

1|22 [e|T[4]5|8 |37 |1

IS [4]|5|T|1|&]3

2

3

2

H

7

HEINE

E|3|T|2(4]5

Elaf(41 s [z|S (T[S [S[e|4[F|T[2]S[T(2|&[F|2]1][5[4

TIH[E]|s|2|4[a|5|2[c|5|4]5|T|2[1]|2]|5]|2[5]|1

SlF[(2TE|E e (4 TIE |2 |E(E ]S4 (S4|T[N]E]2|5(E

I R EEE A EE
Jl4{1]a|E|6[T|2|5]5]|2]|5
IG[e]|3|T[a[4|1 2|87

4 T(I]S|e|1[S|s(2[T|4|2|c|S|S[S|1]F|[3|T|2[4]|S5]|E[1[S

112|554 |33 |T|6[5]|3|5 (4

SIE[(F|Z|F|T[(S4 s |E|T|F|S[E]4 2| [2]|S|E[E]F]5][4](7

FlE(T]|F4|E[e|1(2]4]1 |2

4|5 [E]Z|1|E[S|T[2]2]|5]|6
HEB B OBEEE L

SIT(a]|S|6|F[2|4(1[S|S|F|T[(1|S(2]4]|S|3[1|T|2[4]|S5]&|3[E
G2 |E[2|T|F|E|V 5|2 |2|4|8|T|F|6[4|5|&|T|F]|2[2]1

1|37 (2|42 (s|a|T|2[4]|5|2|8|5(es]0
TIZ[4]|s|a|2[1 8|5 |2|0|T |1 |5 |5
Sl2(1]s|E|T7[(T|e(4[E]|=|1]|4]5 |2
BB E G EE

4 |S(T]F|E|e(a1|2[T]2|E|3[s |41 [5|e|4 (3|7 |&[3]0

T2 |4 (T |F|E[F|8|6|F[F|F|2[1|T|4|2[5|6|5|F|2]|T|4[1]2

FlF(EN 2| (TI|S(4[a1 |46 ]s|T[(F|2]|F|1[{2]|3|S[4]|s]|T[&[3

S|E(F|Z|RT(4|e| 1 [T]|2|2|0|E|S[4|2|T|5(7]|5
T4 (2|31 [S|s|5[1]S|T|4|8|2]|E(3|F]8 (1|2
Ela(1]|S|4]E[2|2|T[4]|5|6|8|T|3[2Z|1]|5]|5(4]3
JIT(A]E 1 |2[e s |S[2|4|a|S[I|e[S[T|1|T[5]1

TIE[E|a|s[4[1|T[2|s|s|1|T|4|G[a|3|2|2 |84 ]|2[c|3]|5[T]|1

SN fFrie|F(z|4 8Tz )05 |4]3 (5]

The middle Sudoku ‘controls’ the other Sudokus. The parts are identical, depending on the

colour.

10-8-2014

version: 3.0
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1 T 916 1 T 916 1 T 916
8 T 5 318|194
T 8 1 8 116 32|86
a2 3 912 1 4
1156 B 5|4 2 5 3
T 2 1 8 6|5 3 |3 418
2 3 9 2 118
3 5 8 6|3 1 g2 9
8|1 =] T 1 4 3 2
7|6 1 T 916 5 916
916 218 (41 918 314 113
4 2 1 g 8|2
8|9 B 8 7|6 3 8
1 7 4 1 5 213 2 B 4 3
T 5|2 T 4 9 e 3 5|9 2
g 5 g 1 g
713 9 7 1 9
2 T 52 B 714 3 51916
5 T3 8 T 9 8 9
1 B 9 2 5 1
8 5 T B 9 118 9 2
1 2 T 3 5 911 B 5 117 3
7|2 416 7 2 7|3 2
1 6|3 B 5 2 2
912 4 6|4 g 9

Middle Sudoku ‘controls’ the surrounding. The parts with the same colour are identical. In this
case the edges.

4]9 5 1 4 5 2] 43 9
1 |2]a 7 36 8 1
7| |s 1 8 3 8 4
3 1] =] [ z| [5 B AEE

2 4 8 8 7 3| [6]4
5 9 3 7

5 1]7 2[a] [s 7 3 7[2s

5 6 5 2

3 2 4 6 [4 3 3] |2
3 7 8 5 8

4 7 7 5
3 2 1 8| [8] |8 1|7

4 a|7]3] [s[8[1] |9 8[7 5] |4
4[3[2] [8] [5] [ |21 4]3 7
2[9] |4 3 3 B 5 8
8 5 7 1
1]als] |9 dOE 5[4 al la[1]8
5 3 1 5 2
8 3 2[9]5 8] 5
2 1]9 8| [3] [4 1 5
14 7| |2 5 sla]| 5] |2 4 3
3 AE 7] [1] [s 2[5 [a]7
FNE 29[+ 7 1
a1 2 4 9
8 1 8 & |2
1 8l [6] |7 4 1
NE 5|4 3 2 1]e[s

The grey coloured middles of the 81 blocks are a Sudoku as well.
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1 T 9|6 1 T 9|6 1 T 9|6
9 2 2 9 1 2
5 1 8|67 4 5|8 901
8 B|T|6 |32 B 4(5 (1 3T 2 3
1 5 3 4 5 T|4|2(6
3 2 2 518 T 4 9
6|8 9 |74 g
4 5 6
3 3 1 4 3[4 5 |2
7|5 B 1 T 916 2 T 5 &
k] 8 T 9|8 3 1 2 5
8 5 1 1 ] 5 1
8 T 4 Tl1(9 4 4 T(a
1 916 1 916 1 916
8 2 B 219 3
6|3 1 5 g 2|63 1 g
(114 2 3 g6
1 4 B T 25 B
k-] 4 283 2 B 8 8 1(4 3
71 2 3 T
8 B 9 3 B 918 (1 T 81489
1 T(2(5 9 4 2
5 4(8 5
T B (1 3|9 1 2 = 2 4|8
2 5 4 3 2 8

The middle Sudoku ‘controls' the surrounding. The parts with the same colours are identical. In
this Sudoku the edges and the middle row and column of the Sudoku in the middle.
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14 Magic Square

Beschikbare cijffers: 381116192526 30 323334354042 4640526364 6568T1 7378

23|53 72| 7 214
67|38 |28 6 77 | 183
61,69 1020 |48 44 17
79/60| 1 |66 536|378
9 2 41|58 22 76|80 | &1
4 55|50 24|70 (17 |39 110
14|18 |21 |43 59 81|29 104
74 54 |57 |31 47 |12 | 94

62|75|56 2745|5113 /15| 25
166 60 | 30 | 58 [181[178(165 | 26 |119

16

AR IR R
b

AR RN ] =

AEEREREERE

I ERE

BlE|B| 2| B 8 &=

HAEEFEEEIRIEE
8

Solution

The puzzle consists the numbers 1 to 81. By Row and Column the sum of the nine positions is
equal.

The sum is always: (1 + 81)/2 * 9 = 369.

(1 +81)/2 = 41 is the average value of a position in the puzzle.

In the grey boxes, at each row and column, the sum of the empty positions is printed. For
instance in row 1 the sum of the five empty positions is: 214.

On top the available numbers: 3 8 11 .. 78 are shown.

Page 71 of 158 version: 3.0 10-8-2014



_Sudoku Plaza

TE

FyEEETTTTE ||'|n-'*".:.:._' —

15 Cube

This cube consists of a total of 13 Sudokus. The four vertical sides of the Cube are the first four
Sudokus. On this page, these four sides are turned upwards. You loop at the top of the cube. The
back is red, the front is yellow, and so on. The vertical four Sudokus have common edges, two
by two, are identical. Shown in: white, grey, purple and orange. Inside, the cube is divided into
nine layers, named A to |. These layers are Sudokus as well. The figure in the middle with
coloured edges indicates how the colours of these nine Sudokus correspond with the colours of
the four Sudokus at the four vertical sides of the cube.

[ 2 4
H 589 8 3 H
G 2 4 ] G
F 8 F
E 2 4 8 E
D T D
C C
B 1 6|7 B
|l HGF EDCB A 23 8 A BCDTETFGH I
2 T(1|4 |||||| a 8 4
1 2|5 T 2|5
5] [4 3 [ | | 13| [s]7 2
2 3 ] 1 [a 5 9
3| |2 B BRE 7018
58] [ | ] 2| 93 1
4 [ | - 7 93
3 4 B ] 3
4] |3 HERER 1]4] |5
|l HGF EDCB A - 4 A BCDTETFGH I
B 9 2 B
C B 2 C
D 2 91 D
E e E
F g2 4 5|6 F
G 9 7|8 Bl &
H 4 215 H
[ 4 [

Figure 13.1 The four vertical sides of the cube.
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Alalz]s ]y g|R[1 6l7| |c|7

5 4 T 2 3 2| |s
2\3 2| (2] I7 2 alz] 7 &

7 2]a 3 2 5 2
5 \ ] ] gl [a 7 B

g \ [z \| (5] [e 2 5 1]a
\ \ 2 B 7 FIEE
g| [+ 4 3 4 3
g3 4 g 2 8] |2
1\

D 71\ 1\ 2 4] J8] 1F [
\lg] \[s] [= 5 7
alslsls| [7]| \a|7[ [o 2| |s
8 B B 5
g\ \ \ 2 1]7 2 T a4
\ | [d4]7]s \|5[2 g| [2 7 4

g \ 2 al7 4|5
HRE ] 5 3
2| w1 \ 6 4 2|z |4 5|5
\ \
G 2| |4 al |H \|5 FBHE | 4
1 B 8 1 5
5 Vilal 2 4 5| |7
2 \s] |\ 2lal\| [s]z 2| |4 g
T14[ |s% 2] |\ 2| [1] |=
] HERR g\ |2 4 g [2] [s] [7[4
E] al1] |2 5|7
] \ 3 ]
3 70z [5)\ [a] [2]% 4

4 [fR2ISITN T8\ A

HAINEE 8
%
9

HEANE

» [TEEYTELT] -

Figure 13.2 The nine internal Sudokus (Layers: A to I).

The arrows indicate the relations with the four Sudokus at the vertical sides of the cube.
The other layers are in the same way linked to these four puzzles
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16 Sixteen by sixteen Sudokus

14

11

4

15

10

16

12

1

1

15

12

82

16

13

11

"

12

N =k =J| 2| 2

15

14

10

14

B

16

10| 8

"

12|56

21

14

16

15

14

10

15

14

9 (16

10

5015

"

10

15

1"

13

14

1

15

10

12

12

10

12

16

11

10| 8

16

14

R == =] ) o2

16

15

14

[FL1 =]

15

—
—

15

10

13

14

14

12

13

== | P3| COf b=

12

15

"

x| | LA B =

15

13

|

16| 5

D] = R kaf S| 0

16(7

Identical to the traditional (9 by 9) Sudoku but with 16 instead of 9 numbers.
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16.1  Sixteen to sixteen Sudoku random patterns

Identical as described before. By Pattern numbers 1 to 16 are only once present per pattern)

Examples:
1] [913 15 16] |2
2| 1|4 |7 12
12| [10 2| [7]1
12| |6 14 9
1[4 g6 [13 14
4 3
16 2|5 [11
8 9 5
13 1| |5 [14|a 8
16 14[13[ 8|5 12
9 16 2 7[10
3 glaM[1|a[13
13 16| 6 10| [15
5 7 3|2
10| [7 1] 1
1 8 7|10

10)16|12| 2
16| 2 5 3|6
3|7 54
14| 9
1" 8 15 14
1514| 6| 3 (13
2
] 10 114
1 10 8|15| 3
16 15 [} 0 1
13 5
q 413
14 15 7 4
11 (12 6|3 15 13
10 14 16 9
1 16 ]
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Most extreme variant where all positions are within a pattern
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16.2  Sixteen by sixteen Sudoku with fixed patterns

3|2|5|13 15 12
10 12| 7
16 3151 ] 10
15|14 13 1 ]
T4 1
16| 2 10|11 [
15| 9
10 3 6|54 (16
[ ] 1013
23 5 ] 2
15|16 a T
2 (1016157 |1 14| 3
54 10 3 1 16 2
131 g 812 b 4
= 13| 4 16 1
1 111014
1 413 51137 (10|11 (15| & (14|16(12
5 10| 9 (12| 7 16| 6 |4 |14| 3 [1113|15/1
16|11 (12 3 (15) 1 (14 2
1514 (7 13| 8 |11 (10 g

i

4

2|15
12162 14( 4 1011| 3 | 5

9

[

1

1013 (1 |15(12|14| 8

2
M| 7 (14| 8 (16| 4 |6 3 9 (10|13(15|12| 2
21310197 (15135 |14|6 |4 (12|1 (16 11
411 |1516(14| 3 |9 1213|111 | & |2 |10 6 5
13|16 |5 1211 211016157 |1 (9| 4 14| 3
14| 5 7|10 315|188 13 |11(16/12| 2 | 9

61013 |12 (9168 12|7 |15|5 |14| 3 11| 4
SM2|3 M| 5113|4142 (9166 |7 |1|10(15
G516 2|1 (7121110143 (4 |5 8|6 (13
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14 5 1 12
13 1110 7
10 12
5 3|7 g
16 1 15 6|5
418 10| 5 114
12 10| & |16 4 13
2 9 16
13| 2 7 g
10| 3 8 ] 4
13 2 4 3|5 |11 g 10
12 111 14 13| 3 |6
12|16 1
4113 g 8 5
1 4 g 12 10
14 12| 3 10 1 13
21149 (4(1(5(8 (16
13|6 12|1511|10( 3 [ 4
7|10 8 [(16(14| 2 (12(13
51111 76|15 9
16 (12 |11 15| 4 |13| 6
4|8 (1310[ 5|12|1 |14
3|12 (14{10| & 16| 7
155 |7 |6 2(11[9 (3 13|18 |14{12|10({16| 4
M4 |6|1]|3|16(10(5 |8 |12|13| 2|15/ 7 (14| 9
W36\ 8 13| 7(14[2 (6 15|9 11|4|5(1 [12
9314 (2|6 (154 (12|11 |7 |3 [5|11{16| & |10
1215|5 |7 | 8| 9 (111 (16|14 |4 10| 2 13| 3 |6
8|2 |10(12(16(1 |5 (153 13146 | 7|94 |11
6 16| 3 (114 (13| 7 (10| 2 |9 |15(1| & (12| 5 |14
1|7 |4 (13[9(14|6 |8 12| 5 |11 [16]10[ 3 [15]| 2
4/915|512| 3 (2 (1M1(10| & |7 |4 |16/ 1|6 (13
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14

2|T|6 14|11 (10 8 16 9 1
112 7132 3|14
1" 9 46
5 3 16 14 1 8
6 |12 14 5 3
1 13 3 15 11)10] 2 14| 5
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ANE 6] J10[12] 5 [15] 8
6 13 1ale | (18] [1 8
T T2

15 14

14| 2 4
15| 7 |12 2|14(3 9

1011 g (4
14| 3 | 5 (12

10| 4 |18 2 3 1
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16.3 Chessboard

This Sudoku type gives the odd numbers with a grey background colour and the even numbers
with a white background colour. So on every position are only eight possible numbers available.

92 |11[16|15 14| 3 1
5 13 10 14
4 (15 7 13(6 [ 1 9 5 81
16| 1 11(14 4 15| 8 |13 5
13(12 2 4|7 14| 5
15 5041 13 310|112 |7
14| 3 5 7|2 6 [11|16|15|12

1011 16|15|12 8 2
147 3 1 15

1 2 16 5 9 7|8 |13
12 8 (15 3 10 211 16| 5
10 14|58 |7 |2 |15 3 1

This type of Sudoku can also be combined with patterns, see example below:
The four coloured patterns contain numbers from one to sixteen. De dark coloured positions are
filled with odd and the light coloured ones with even numbers.

B |7 |4 16 14|13 3 5
1 13 12| 3 7 15|16 2
3 [10 2 B|5|6 4 16|15
11 6 14| 3 8 10
B 15 2 13|10
3|6 13 1|16| 5 (10|15|14| 9 (12

12 14 16| 3 |10 6|9 7

1612 (11|18 |7 3 |14 10(15]12 6

13 (12 14| 5 (10 6 (11| 2 16| 3
10 7 1
9 8 13|16 |15 12| 3 11101 | 2
7 1413 5|2 11
5 (10 34 76|13 16
11 6 4 12 1(14| 3
15 3 (12|19 |10 2(1|14|5 |6
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16.4  Fixed Patterns with common parts

In this kind of Sudoku the patterns has common parts (shown in yellow).

See example below, The red pattern (8 positions) combined with the yellow positions (8) is filled
with 1 to 16.

9 Ne(12(15(4 |11|6 |3 |10

1MoM14|5 |1 |8 |27 1612
2N3(2(7T(11]514 |1 |8
16 102 (3 2131415
3 1|5 |8 11314 (12| 2

14 2112|989 |4 |10|5 (86
g8 16| 4 10115|3 [T (11
11 13|66 |2 13 |1 [15(14
T|15(4 (9 (1 ]|&6|12|8 |5

6
a8
5|7 (1413(15| & |16|9 | 1
3
1
5

Same rule counts for the other five patterns combined with the yellow pattern.

7 119 12 11| 6
9 13|15 2
10 711 1
8 7 5|16] 6 2 14|15
11586 14|112| 2
1
11 7 16 2 9 10
3|13 9 4 10|15 711
8 101211 13 2 1 14
11|14 7
1
15] 2 9 8 131 4
7 8 11| 9 1 12 10 3
15|14 5 12 313
12 1 214110 6 (13
13| 2 1|10 8 11
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17 Twenty five by Twenty five Sudokus

14 5 1916 |2 (23 3 |10 (12 25 (20 171 |22 |15
25| 3 |25 4 1|11 5 13 (19 16 a(z|8
16| 7 12|26 |10 15|13 | 24 22|18 2 23

13 17 1|2 5 9 |15 (20 25 18 24 16 (12 14
12 (22|15 7 13 16| & 19|25 21|20 10 17 11
24 17|14 5 10 21 4 1 8 22 (15 23
13 12 24 (16 3 20 |14

18 (16 24| 11|20 6 (22 19 23 2
7|7 9 (22 18|25 3 16(13 14 15 (19|10 1
19 1|23 8 (17 2|13]|5 16 (7 |18 |25 10 16

21|24 |25 715 |14 4|9 (2 |13|19]|23 22 3

25| 8 16 9 13 23113 22 (20| 4 1 (18 T

21 24 13
17 1M|6 18| 7 (19

22|119| 5 2101 J|16(12| 6

19 10 1] 2 15 |14 25 (23 22 7|4
24| 3 |20 1] 2 |16 10 12 5123

Solution:

14|14 ME| & | ®
22 |1E |24 |28
2018 | T |21 |12

1112 & | 7 | 1447 12 18 |21 |18 |15 12
107 (1B | 16|12 |24 | 4 | 1 |22 14 |2 |18 11

L s
v

M|z |8 |18 1
1210 |8 AT|23 |91 (2 (21| & (22| & |16 |20 |18 |2E6] 1

1
8
g8
16| & | 2% |2& |24 (13|20
18| 2 |24 | 7 18 12
14 |24 AT E |4 (11 2
|8 (AT|14 | & A8 (D) T |21 |2 (1T |1E| 4| 2 |1 12| & |2E|1&)22 (1&| & |22

o
=
L]
=
=
i
ra
i
(=]
L]
]
[&]
-
=
Bl o B o

4 |14 |1%
10 12| &

1816 |12 & |10 (25|24

w| B H
i

1E
1
z
16 |15 12 |12 |12 |24 [21 |26 |11 | 20|14 |1 | &
22
4
L]
&

iT|T|E|4 12| % 2L 15|28 11 |24 2|20 18 12 148 & (18 |[12) 1
@2 |1 |28 v 21| & |22 |1E| T (15 [2E |24 (1021 |11 8 (22 | 14|12
2|14 |8 |2E|20 18 1610 ] 18 |22 ITAE|11 |7 |1 |4 12| & |13 |21 |24 (26
1091 |21 (24|28 1 | T 14(12]| 4 | & 1218|232 16 |22|8 | 2 12|17 (201

12|28 | & 14|97 |24 [18 |21 12 |1& 112 (0|22 |20 4 |21 15|87

18 |20 (1215 |1E |22 (1 |12 19 LR 2|8 11| 2 |24 & (2 |18|22
T |5 |22 |1E|18 210 4 E T |14 8128 |8 151 (A3 |11 |17 (2
211 |23 | 2 |24 11 |13 (22 EMe 12| 2 |1E14|& |AT7| 7T | & | 4 |26 (18|12
g [T 2 |19 18| & 12| & |20 |14 (18|12

22

1|4 12|12 |24 |21 |12 8 [16)18 (20 15|11
K
E

i@z 1z|2|4|7 [1E
18| E (181 1|18 (=2 412 |12

S

183 |02 421 |97
2|8 | 201614 11 |28 |23 1T |22

R
[0
-
™
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17.1  Twenty five Twenty five Sudokus with variable

patterns

Identical as described before. By Pattern (numbers 1 to 25 are only once present per pattern)

Examples:
18 |22 14. ZE |10 (23 | 20|21 L] 4|7 1E 1§11 |18 |14
2 1| & |22 & o |24 18] 14 1
7 B4 |1 16 12|18 1018 0|24 | =
T 13 1|8 L] 23 |18

K

Solution:
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17.2  Twenty five Twenty five to Sudoku with fixed patterns

5 115 17 g (10|12 M1z 2 1114
12 |13 |12 3 ] T
3 1 15| 5 0 8
15 1c 23 2%
3 4 5 21 TI1E|Z |10
2 -] 4 12| &
1% 23|25
=3 20 13 E|15| &
FrAR RF 1 (21
1 2|7 |8 413 | |1 |20 2 | &
4|7 3 |15 13 M|zl 121512 17
1€ Fal Il i 4 12| (13|17 (14| 5 (IS |Z2| 2 |15 4 11
15 14 177 |1 |15 S 208 3
5|24 12|11 14 |22 3 3 18| & 10 T
1|15 |15 4 5 [18 5 1 T | 5 1z
FRERRFF-R 15|21 |10 )1 1?' 15 EN 12|14 4
5 15 Il 4 1= 17|15 3 (A
15|17 4 |18 18 |3 15|13 107 5|12 TE|EE |1
13 |24 4 12 5 2 1112 14 18 |15 |10
15 |14 |20 |18 T 3 3 & |22 5 15| 5
T|5 |14 17| 9 & |23 5112 21 1 13
1€ 12| & 15 M| 8 |22 4 (1418 L
15 14 M 2 (20|24 |25 1T 15 13
-1 T 1E|14 15|21 3
1 3 5|15 [ -] ] 12 |24 10
Solution:
WIS (1S ISATHS| s (MW (1Z2|Z1F|Z3 |24 |15 2 (11|14 4 18 |20 3
1TZIF(1E (1410 3 (24 (5 (18( 4 (1T (15|20 T (11|35 201 |
FIZ|MNM(TIE(I5(S A3 |Z0(14(1 |3 |5 |H |5 1T 4 |15 |22
15| M(15(5 (18| ZE2IH2|2 (5| 18|53 10|13 |14
|| Z2(4IT(2S(1 (2111 T (€| 2 |10 |15 (14| & Iz |4
13| (1 (15| 2 |24(3 (& AT(15| 4 |10|1Z| 5 |20 |25 12|71
S15| 7 1@ 14|18 (11 (23|25 (5 (1T 1 |[1E(21| & 12 |24 |15
S|E(I (15212 [Z2[20 |4 (12311 |15| & |15 |24 S |1E|S
TR (E(12|24 |5 (101 |Z1(15] 2 |25 7 |14]25 |11 5 15
M|E (4 (2|5 |7 (1e|5 (12221515 |24 T |10 il i
4 FANRE R ERE R RN R R R S|17| &
S0 ZE |3 (2115 |25 |24 |20 | T (12| & (13|17 |14 111
El1E| S |2 | 41127 |7 |1 15|21 |24 5 |10 |20 B bl B
WIZE|HA(IT M4 225 (19| S |2 |4 |23 |15 T|15]| 3
BN & |s (4 (10|5 (15]3F (18] 5 (201 |13 5|14 )12
2|3 122 S (1|23 1521|101 1? g |15 |18 144
w1 |25 |1 15|22 113 3 (24| 4 |4 |12 |18 |23 |2 T
SISIT | |4 |18 1S |24 |14 2 |20 |5 |23 |15 13 |21 |25
2|5 (13 4|8 12|17 |25 & (15|22 (T [ 1 15 |10 |18
B4 Ie(2S|(T (1 (S (21|13 |2 |5 |Z2|24|4 NE2|1Z]|E |23 |15 5 |17
TS |14 WME|IT| 5 10| 8 |ZD (24 1S |E5 (12 (15 3 |21 11 (13154
TEE(e (1A 1 [Z1 IS 1E(24 | & |20 J|2|4 40155 |5 17T |22
15 |10 |23 1z (14 FIMMAF|T|S|1 4|2 [20|24 25|17 |1&6 (15|21 |5 (15
M7 15|25 7 FEIRCARERRER FA N R U R R N - T O el bl =
114 |22 |251F 2015 (3 |Z|S[(1SIMTAT[& [T (15|58 Me|2F |14 12|24 5 |10
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118 Fal Fil 171 |
13 14 2 13
15 1
314 1
13 ICNFER RN ] 1z

1 L] M (TI2 T8

i w1 OREBEE i
FINEEDEE ez |s| |8 |17 B
T | |18 1 % |13 )
HIEIE 1 T [ 2| [ TE(13 |15 17] €
n NEE 1 N 1z
FIEE NMEEERE RS B
3 4[5 8 |17 Z| e |4 | |z(2t| |3 =
3 S| (10| |15[4 [1#|z[11] |z4[1Z|1 |z BEBE
O EAE NREEREE 2|5 127 |%
M HEIEE 7 = e
o FIRE 3K 3|z ETAET]
118 N EEEREEE 1
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15 (20 3 (12 T
54
- oM
ERES 14
-
7|7 13 3
14 17 5
4 F-] 15 H
LI EREE n
12[ 5 13
25 42 3 1
F= 1z E]
F i El
11 T
13 mls 4 13
F= T 13
M| TE g 2 e
1 17 I8 |8 H
4 (10 E n T
5 13 & & 17
H4|1E 13[4 15
T B8
il 3 (25 z 3
14 Fal i
T8
10
13
)4
"
3
17
H
F=]
"
FARRE] 17 13
ER L 3|22 |15 H
17 4 n
F | 18|18 T
-
1 19
3 F<] F
13 15
L] |1 13
Fo ] 1 4 &
e 2

Several days are needed to solve the above shown Sudokus.
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4 13 16 (12 FaL i 23|11 k=] 15
15|25 21 S| 1 BT 154 =12
2|10 7 155 (4 13 112 g
13128 2 15 1023 1=2)12( 4 22142 7|7
N|E E my1 7 ] 7 3 13 15|21 3 13 F
E |10 (13 413 1 il 33 (24 R
142 L) 4|18 RN R -] LCARTARE]
2 =2 5 (104 I (T EE ] n
"1 5 2 1% 2T (4 14 e HIEERRE
15|24 -] 3 3 132 [ 1 RN
Tz (1E(n 2 3 1014 F=] T FRFFE] ETERERE
13 El 15 1z 13|22 15 147 (2| &
14 CREEES 3 R 15116 (15 12 ERF=]
13 5|25 1 (2 12| 3 [10|24 |2 mwn|rT 13
Fal 3|23 1215 F " 12 1& 5
5 CRES 22 (1413 2 2 4 HE
AR R 1T [E|z e HEIEREEIE B R =
1217 (24 F 1)1 T4 422 (15| & |23 (20 12 4
w1 3 3 T 4 2|2 v F-)
T ERREIREARE] 10 13 |17 3 12 1= (1 oy
i 17 21 ] 3 131 (25 4 |13
1 1218 22 2 15 3 21 R 17
] 13 11 (24 2 |22 (14 1 21z 175 L]
w7 M3 (1 15 il e 3 |2F|E )E (I
1H|& n 13 23 12 211 (14 4 )1 (2
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18 Blocks with series

This kind of puzzle is filled with series of numbers and can be solved by eliminating numbers
that are not a part of the used series. Series are made by four numbers. In each block the four
rows and columns contain a series. So each block is filled with eight series. The complete puzzle
contains 8 * 16 = 128 series.

Explanation of used Series:
29 [61 35 [71 42 Intervals between the numbers are: [6] [7] and [8]. The first

e se interval varies, in this example [6]. The second is the first +1 [7].
Then next is the first +2 [8].

10 [12] 22 [11] 33

[10] 43 Same type.

ﬁo] (121 31 [ 20 Same type in reverse order.

43 [12] 31 [13] 18 .

[14] 4 Same type in reverse order.

?2] (21 43 [y il Intervals between the numbers are: [2] [4] and [6]. The first

interval varies, in this example [2]. The second is the first times 2
[4]. Then next is the first times 3 [6].
Can appear in reverse order as well.

Example:

Solution

47 (48 |50 |53 |34 |40 |47 |55 18 (17 (15|12| 34|24 |15
35|40 |44 |47 |22|28 (35|43 |12(14|18 |24 25|17 |10
24|31 (37|42 |11 (17|24 (32| 7 |12|22|3T|17|11| 6
14 (21|29 |38|1 |7 (14|22 3 (11|27 |51|10| 6 | 3
48 (33|23 |18|22|32 41|49 |53 (50 (48 |47 |45|37 |30 |24
32(25(19 |14 |20|26 |33 |41|50 (47 |45 |44 |39|31 |24 |18
17 (16 |14 11|17 21|26 |32 |48 (45|43 |42|32|24 |17 |11
3|6 8|9 |13(17(20|22|47 |44 |42(41|24(16|9 | 3
40(33(25|16| 5 (11|16 |20|18|21|23|24|38|25|13| 2
34(32|29|25| 9 [13|18|24|26|29(31|32|33|23 (14| 6
27|30(32|33|12(16 (21|27 |35|38 |40(41(23|19 |16 (14
19|27 |34 40|14 |20 |25|29 |45 (48|50 /51| 8 |13 (19|26
2(3|5|8)8 |5 |3 |2|49(33|18(/4 |11/ B |6 |5
89 |11(14|21|15(10| 6 [45(35|26(18|16|14 (11| 7
20(21(23|26|33(24|16| 9 |42|38 (35|33 (20(18 |15 (11
38 (39 |41 |44 |44 (3221|1140 (42|45 /4923|120 (18 |1T

- P | =]
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Puzzle
a7 15 34 15
47 28 18|24 17
3r 11 24132
14 27 6
483323 32 47145 (30
47 2418
11|17
6 20|22 3
33|25 5 16 18| |23
34 24
27 27 40 141 14
34 48 8 19
1|8
14 10 26|18
20 26|33 16 1815
38 40 23

The number of used numbers can vary, in the example above the numbers 1 to 55 are used.

The more numbers are used the more difficult the puzzle will be, below an example with 99 used
numbers:
In this case the number of possible series exceeds the number off 8600.

Solution

58|34 (18|10|81 (87|92 |96 |22|38 |53 |67 [90(93|95 |96
66|48 |36 |30|56 (61|65 |68|38|51(63|74(88(91|93 |94
73|61(53|49|32(36 |39 (41|55|65|74|82|84|87|89 |90
79|73 |69|67|9 |12|14|15]|73 |80 |86 |91|78|81|83 |84
2 (12|23 |35|39|55|70(84 |70 |58 |45|31|42|45 |49 |54
8 (22|35 |47|55|65|74 (82|75 |66 |56 4556|5963 |68
15(31|46 |60|70|74 |77 |79|81|75|68|60|71|74|78 |83
23|39 |56 |74|84 |82 |79 |75|88 |85 (81|76 |87|90|94 |99
79|56(32| 7 |4 (13(23(34|91|62(34| 7 |79(60(40 (19
55|39 (22| 4 |26 (33|39 (44|85|59 (32| 4 |66(53|39 |24
32|23 13| 2 |49|52 |54 |55|80 |55 (29| 2 |40|39 |37 |34
10(8 (5|1 |73|70|68|67|76(50(25(1]1|18|34|49
67|72|76|79|93 (88|84 81 12(16|21|23(33 |44 |56
47 |54 |60 65|78 |72 |65 |57 14|23 (33 |56|48|41|35
28 (35|43 |52|64 |55 |45 |34 17(31(46 78|58 |39 |21
10 (15|25 (40151 |37 |24 |12 21|40 |60|89|63|38 |14

G | | WD
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Puzzle
58|34 81|87 22|38 67 |90
66 30 65 (68|38 |51 88|91
73 49 36 41 82|84 20
73 67| 9 73 78 83|84
2 39 70 70 4531 49 (54
35 55 (65|74 56 56 63
31 60|70 75|68 60 T78(83
23|39 75|88 BT 29
56 |32 4 (13 34191(62 7 40
55 22| 4 33 59 66 24
32 13 49 52 55|80 |55 40 34
10 67 50|25 111834
72 79193 81 16|21 33 |44 |56
47 |54 78 23 48 (41
35|43 64 (55 17 58|39
10|15 37 1213 (21|40 (60

The used series can vary and be made more difficult, see the example below.

Explanation of used Ser

ies:

Start value is: S

Difference (step) between First and second Number is: d (can be
positive or negative)

Formulas:
First Second Third Fourth
1 S S+d S+2d+1 (or-1)  S+3d+3 (or -3)
2 S S+d S+2d+2 (or-2)  S+3d+6 (or -6)
3 S S+d S+2d+3 (or-3)  S+3d+9 (or -9)
4 S S+d S+2d+4 (or -4)  S+3d+12 (or -12)
Examples First Second Third Fourth (S =29, d=6)
1 (Step each time +1) 29 [+d] 35 [+d+1] 42 [+d+2] 50
2 (Step each time +2) 29 [+d] 35 [+d+2] 43 [+d+4] 53
3 (Step each time +3) 29 [+d] 35 [+d+3] 44 [+d+6] 56
4 (Step each time +4) 29 [+d] 35 [+d+4] 45 [+d+8] 59
All series can appear in reverse order as well.
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53

54

56

59

26

36

42

44

60

87

55

22

20

17

13

35

36

38

41

34

38

43

49

43

45

49

55

30

28

24

18

18

20

23

27

40

41

45

52

30

36

45

57

41

37

32

26

2

6

11

17

44

45

48

53

21

30

43

60

55

47

41

37

48

49

53

60

17

23

27

29

55

42

27

10

29

30

35

44

39

46

52

57

22

28

32

34

34

28

19

26

28

31

35

31

40

48

55

3

34

36

37

20

17

12

19

23

26

28

24

k|

41

54

44

4

39

38

13

15

20

23

21

19

13

27

28

32

39

56

a7

36

23

33

30

26

21

34

26

19

13

30

36

41

45

49

42

34

25

32

25

19

14

45

35

28

24

34

42

47

49

35

32

30

29

30

21

14

54

46

40

36

39

46

50

81

14

17

24

35

27

18

11

40

23

10

10

39

41

46

54

57

54

52

51

23

14

7

20

23

25

26

35

38

44

53

52

46

42

40

10

7

5

32

37

40

4

27

33

40

48

44

36

30

26

1

2

4

=i o B -

40

49

54

55

15

26

34

39

33

24

16

27

18

11

S$=27,d=-9

18 =27-9

11=27-9*%2+2 6= 27-9*3+6

Puzzle
53 |54 |56 42 44|60 |57 |55 17|13
38 34 28
20(23 40(41|45 30 |36 |45 |57 32 (26
2 17 43 55|47 37
53 60|17 42 10 30|35 |44
39 (46 57 |22|28 34 28 7 31(35
31(40 36 (37|20 19|23
31 41 38 64 23
21 3127 32 (39 23 30 21
26 30 (36 49 (42 19
45|35|28 34 32|30 21 9
40 (36 50 (51|14 |17 35|27 6
1|4 9 41|46 57 51
2314 2 38 53 40
10 54|32 40 (41|27 |33 36
4 40 (49 55|15 34 33(24(16| 9

This Sudoku variant is available with 25 by 25 Blocks as well.
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Puzzle
I BENEBRE 7] & T 47
I e T =l B EIANEIE H
# 56 2z 23
27 |6 |75 | 55 7 =0 |1 |53 T |43
I 7] T B
0|11 T T B0 N EEREEEERE
27 28 74 = s [@
23|57 [a5| |ee[®=| |71 |e7|e2 TS Ba |4z |42
7 |77 £z at |20 20 FANES
5B |65 56 T B 2 19 |22
A ED A B | |27 30
FIES rHNE BNEE % aq
56|45 # =] [= e o] [a=[52 63
# T = = EE 51 57 |64
7 HNE 53 5% oz [e% |20
BEEE BZ|®| [t ) a2 [ |50
= = EENEEILT & |50]55
73|65 | 56 A 5 [17 EEYER & |5 |47
I 7 [14|z0 3 T #
E T BE R AR I T |4
E B g [T o S % (75
E0[65 71 |59 ENER 15 B 6
&7 14 24 |47 51|53 |78
FANNES 74 o] [z|zo[zz| [ag
X 77 =3 |62 A B EERES
Solution
wa[az|az |54 |61 [21]12] 7 | 2 |1 6 [11] 7 | 4] 2 o2 |26 [20] 7571 | & | 7 |1 18|22
T [47 |44 |42 (47 [BE| 26 (17| 1 | & 77 |12 |74 |77 |21 |55 |66 (B8 |77 75 |40 |25 |27 |28 | 26
B0 [ 50|41 |22 [26 [56 [a0[ 2820 [16 [7 [14]22 |21 |41 |44 [51 [59[ea[7e |67 |56 |45 [27 |29
BE |52 (29 (27 [16 [75 |55 40|20 [25 [4 [17 |21 |46 |2 |20 [47 |52 |66 |20 |25 |70 |56 |42 =1
B3 [53 [ 38 [24 [19 [35] 71|53 @ |35 [ 2 21|41 |62 | |23 |36 [S0[es[&1 [aa [77 |61 |48 |32
011 |12 |16 |20 |20] 42| 57| 63 |20 |26 |20 72 |65 | B [E1 |26 |30 92|55 |62 |69 |77 |26 | 96
2023 |27 |32 38 [32 |51 63| e [2a [Fa [7a e 61 | |62 [71 |73 | =4[5 |43 [55 [6z [0 |72
31 |96 |42 43 [57 |45 |57 68|72 |37 [71 |67 |62 |56 | & |48 [57 |67 | 76|54 |57 |42 [42 |55 |62
43 |50 58 |67 77 [51| 62| 72| 31 |23 [62 |59 55 | 50| 48 |50 |44 |57 | 63|50 |26 |30 |55 |41 |42
6|55 |75 |36 |32 |56 | 66| 75| 52 |30 [52 |50 47 |43 | = |15 |32 |42 |6 |77 |16 |17 |2¢ |2 |24
B3| 73| 56 |38 (19 |72 | 64| 57| 5 |46 [16 |17 | 19| 22 | 28 [B0 |45 |37 | 27 |12 [10 1% |24 |5 | 30
72|59 |45 |30 (12 [60] 53 |47 | & |33 [20 [2a 23 |35 |4 |42 [4a (47129 [3e [oo [sa [4a [5a 7o
56 a8 |35 |22 [10 [a7 [ 21| 26 | 22 23 [22 (20|22 [47 |57 |29 |47 [4a[ 4z [52 |43 [51 [55 |61 |62
r N E3 HE EEEEE EE G EE EE N E i E G E
272z (e (12 [ 5 [E[1a]11] @ | & |26 2052 [ee | [o0 [22 |47 |57 6% |oz [oe [en [e2 |52
(S0 [ 77| 63 |45 |52 |37 | 59| 52| 76 |71 |16 |26 | 55 | 43 | 50 [59 |66 |44] 23] & |51 |40 |50 |61 | 73
B5 (72|60 [ 45 |31 (B8] 77| 71| 66 |62 (T2 |27 29| 36 | £ |66 |23 (22 [18] 4 |41 |4 |45 [50 |55
73 (62|56 |42 [29 [F2 e [61 |57 (54 [ @ 1724|2035 |44 [22 [22[14] & |52 [47 [42 [40] 22
Tz [62 |51 (29 [26 [61 |56 52 [ @ 47 [7 [14]20(25 |2 |22 [12 [14[11] @ [ea 52 [41 |21 |22
4|55 |45 |24 |22 [51 |47 [ 42| & (41 [ € [12[17|21|2a |2 | 4 |6 | @ [12 |77 |32 |40 23] 7
I EHE FE R EEE EEEEE RECEEE EEE
52|56 |60 (65 71 |59 |52 |46 [ (27 [2 | 5 | 9 |15 |22 |22 [22 [54] 7123 |1 [45 [en [T |92
BT [51 |56 (52 (43 [F1 |65 60| = [52 [ 5 | 2 14|22 | & |24 [47 |67 7|9z |51 |59 |6 [72 |29
B0 (65|51 (38 |26 [3a| 73|75 |72 [7a [ & |12 20|32 | & |44 [55 [e7 |20 [aa |7z [Fa 77 |&1 |26
A EE E R BB E BHEEHEE S EEEE B EEE




Sudoku Plaza
19 4 by 4 Sudokus (Quadoku)

Explanation Sudokus with four numbers (1,2,3 and 4).

3 4

—

LW RARIN=ON
N A W= AN W=
LN AW = A=

W

- N N= AW
== W= BN WIN

W= BN =2WN A
N =l NN =
WIN =B Wk =N

41 2 4

At this Sudoku variant only the numbers 1, 2, 3 and 4 are used.

N

In each row and column the numbers one to four are found twice

Numhw-nn-ul

43412321

In then 12 by 12 variant the numbers are fount three times in each row and column. The 16 by 16 variant
gives four equal numbers at each row and column.

In de zestien grijze en witte blokken komen de cijfers 1 t/m 4 één maal voor.
In the sixteen grey and white blocks the numbers 1 to 4 appears once.

4|3 4/1/2/ 3 2 1
2|1 2|13/114 3|4
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The Blocks with the black borders have the same rule.

Fal B3 Bl S

Equal number cannot be place beside or under an above each other.

Example of the 12 by 12 variant:

Page 95 of 158 version: 3.0 10-8-2014



Page 96 of 158 version: 3.0 10-8-2014



20 4 by 4 Sudokus with two numbers at each position

Explanation:

Solution:

At this Sudoku variant only the numbers 1, 2, 3 and 4 are used..
At each position (total 8 * 8 = 64) two (different) numbers are present.

At each Block of four positions the numbers are present twice,

211

Etcetera.
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At each column four equal numbers are present.

Puzzle:
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21 6 by 6 Sudokus

21.1 Double 6 by 6 Sudokus

Explanation:
This Sudoku variant has 12 rows and columns each with six positions.

In each row and column the number 1 to 6 may appear only once.
Moreover this rule is used in the 12 blocks marked with a border line.

The solution looks like:

5 4]3 2[6 1
6]4 1[5 2[3
2[1 5]3 64
1 [3]2 4]5 6
2 5|1 6|3 4
5|3 6|4 1]2
3|2 4|6 5|1
4 116 3|2 5
6 2[4 51 3
4]5 2[1 3[6
116 3|2 4]5
3 6]5 114 2
ROWIE \43 ‘ 26/ 3

vzl [614] N [115] |[2[3] |
Row3|\21 E

Etc.

N
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Column:1 Column:2 Column: 3 etc.

o B

6
2
N

N (W

o)
3

D | O

Blocks

5 4 2|3
6|4 2 4
2|1 413 216 1 6

1 13] [4 115 2 6|4
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The puzzle looks like:
) 6
4 3
6|4
4
3 6
3]2
6
415 1
9
6 1
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23 8 by 8 Sudokus

23.1 8 by 8 Sudokus with patterns

By this Sudoku type there are eight numbers available.

Some variants as shown below:

g|e 2 3 7
3 7|8 3 1 ]
6(3|2 8|5 1|5 g
1 5 7 5|4 g1
] T

7|2 5 7 1 5

1 3 & 6|7 |4 3
5 1\8|7 3 8 4

By this type of Sudoku there are no blocks but only rows, columns and patterns.
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23.2 Double 8 by 8 Sudokus

Explanation:

This Sudoku variant has 16 rows and columns each with eight positions.
In each row and column the number 1 to 8 may appear only once.
Moreover this rule is used in the 16 blocks marked with a border line.

The solution looks like:

6 717 3|2 5]3 7]
A-r 6|5 4|8 2|7
2|4 3|7 1]6 8|5
8 1
1 5
7|3 2|5 6|8
4|2 8|1 7|3
5 AE 3|4 711 2
4 117 56 218 3
8|5 2|1 7|3 4|6
6|7 8|3 5|4 1]2
3 2|6 4|1 7
7 4|3 615 8
5|8 4|2 6|7
106 7|8 3|2
2 3|5 1|8 4|7 6

sewr) L1 IN 1 K1 ZGINE HZNH EIZINE:
R0W2:/3 1\/6 5\/4}8 21?\
Row 3: 24/\3 7/‘\1‘6 \3]5/

Etc.

Page 103 of 158 version: 3.0 10-8-2014



'“'Mﬁ‘oudoku Plaza

e e
Frr e P o

Column1l: Column2: Column 3: enzovoort.

- L

o

AN
/1

AT VL
sl AN

SRR TNEBRL TN ERL TR

Vﬂ|mvm|m
Neole T ~]o

Blocks:

>
~
=
)

|
0
A
<)
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The puzzle looks like:

e )

7|1 5
4
1
2
2 8|1
6 7
1 2
5
6 4
2]6
7
3|5 4
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24 10Dby 10 and 12 by 12 Sudokus

24.1 10 by 10 Sudokus

By this type of Sudoku there are ten numbers available.

Some variants as shown below:

2|9
9|6
5|7 1
6 10
10 5
1|6 9
4 |9 8 1
1] |10 2(6|7|9
5| [0 4
7 1 5

6 2|7 3 [10]
4 10 2
7 1 8 5

By this type of Sudoku there are no blocks but only rows, columns and patterns.
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24.2 12 by 12 Sudokus

By this type of Sudoku there are twelve numbers available.

Some variants as shown below:

7T 2l3 2] 15111 9
21 [10le| [7[12(3| (81

5 10(8 (11|16 |7 3

12 11 6 5|8

11| 3 5|9 8 10

12|19 (4 10 5 7

8 (11 2|3 12

11 3 (12| 1

11(12 1 1017 |2

10(1(6 7|18(9|2

This Sudoku type gives the odd numbers with a grey background colour and the even numbers
with a white background colour. So on every position are only six possible numbers available.
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Other variants

-g—-v-"-'—r';—-'

i O

11 5
7 7|8 3
2 9|11

10 718
4 10

1 11| 4

9 2 8
1|5 5 2 9
7 12 6

2 6 8|2
3 3 12|79
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25 Serie Sudokus

115(718(9]6]|3/4]|2
2(3/8|14/1/7]6/95
9(4/6|5/31211|7 8
7121416 5/3]9/8(1
6/9/5]1/84]|7|2|3
8|11/3]12{7|914/5.6
5|171213[4/1|8|6|9
3|18/91716/5]2(1(4
4(6(1]19/2/8]5[/3|7

This Sudoku variant contains series that are formed out of three numbers and where the
difference between the first and the second number is equal to the difference between the second
and the third number.

For example:
12 3 difference =1

159 difference =4
5 3 1 difference = -2

A serie can appear horizontal (horizontal brown bar) as well as vertical (vertical brown bar).

For example:

115(71819/6]3
2(3/8|4/1(7]6
9(4/6|5/3 211
7121416539
619/511/8 4|7

Horizontal series: 789 - 321 - 246 - 951
Vertical series: 864 - 456 - 135 - 234
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Sudoku Plaza

This variant contains also diagonal series (grey background).

i

3|15/6|4/9(2|8|7|1
4(8 11715132 6|9
2(9|7186(1[(3.4[5
5/1[3|97/8]4/2|6
714181512/6|9(1|3
6/2|9]1./31/4]15|8|7
8|7/5|6/4|9|1|3|2
116(2]3|8(5]|7]|9|4
9(314]12|1/716/5]8

In this example:

8

6

2

Page 110 of 158

version: 3.0

10-8-2014



_Sudoku Plaza

e ol

o y—

- g i ]
BETYT WITTeE ﬂ‘- |y i e 2 ©

This Sudoku variant can also be made in 16 by 16 format:

15|12 10 1 4 Belfd':'ilg“e:m;]f;:m 4- 3- g E- -

2-1 2 1 2
1-3-5 2-4-6 3-4-5 4 5-6 5- 4 3 6 5- 4

1 96 2 1- 4-7 2- 5- 8 3-5-7 4- -6 5- 6 T &~ T- B

1- 5-9 2- 6-10 3- -9 & 7-10 5- 7- § & B-10

1- €-11  2- 7-12  3- 7-11 & §-12  5- 6-11  &- 5-12

3 5 1- 7-13  2- §-14 3- §-13  4- §-14 5- §-13  6-10-14
. 1- §-15  2- -1 3- §-15 4-10-16 5-10-15  6-11-1€

4114 16] 8 (10 7-4-1 B-5-2 9 5-1 10- 6-2 1l- 6 1 12- 7- 2

7- 5-3 B- 6-4 G- 6-3 10- 7-4 11- 7- 3 12- B- 4

7- 6- 5 B-7-€ 8- 7-5 10- G- 6 11- B- 5 12- 8- €

2 9 5116 11/ 6 ||1 |10] - &5 & s-10 5 &-7 10- 53-8 11- 5- 7 12-10- &
L 7- §-11  §-10-12  §-10-11 10-11-12 11-10- § 12-11-10

14 16 10 T-10-13 B-11-14% $-11-13 10-12-14 11-12-13 12-13-14
7-11-15 B-12-16 §-12-15 10-13-16 11-13-15 12-14-16

13- 7-1 14%- -2 15 &-1 16- %-

1 10 13 a 14 13- - 3 14- %- 4 15- %- 3 16-10-
g 15-10- 5 16-11-

13-16- 7 14-11- & 15-11- 7 16-12-

g 3 ? 15 1 10 12 8 13-11- 5 14-12-10 15-12- 5% 1g-13-10
13-12-11 14-13-12 15-13-11 1&-1%-12
3 14 g 13-14-15 14-15-1f 15-14-13 16-15-14

[ )

Gesorteernd op middel ste cijfer:
-—2 - 1-2-3
8 |11| 2 9 7|16 1 TioohEEroo,
-~ 4 -—— 1- 4-7 2-4-F 3-4- 5
10 -~ 5 - 1- 5 % 2-5-8& 3-5-7 4- 5 6
-- & -——- 1- &-11 2- E-10 3- E- % 4- &= 8§ 5- B~ 7T
-7 - 1- 7-13 2-7-12 3- 7-11 4- 7-10 5 T- O
10|12 1511 | 8 13|16 | 7 & - 8
-- & -- 1- 15 2I- §-14 3- B-13 4- §-12 5- E-11

16 1512 6 14 1 5o 258 30548 4 514 5o 513 6 se12

T- §-11 &- 5-10

--1 -- 4-10-1¢ 5-10-15 E-10-14 7-10-13 E-10-12
6 14| 7 5 8 |16|11 2 9.10-11
--11 -- §#-11-16 7-11-15% §&-11-14 5§-11-13 10-11-12
12 10 B --12 -- §-12-1¢ 5-12-15 10-12-14 11-12-13

--13 -- 10-13-16 11-13-15 12-13-14
--14 -- 12-14-1¢ 13-14-15

10 13| 4 16 6119 8 --15 - 14-15-1%
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25.1 Series Sudokus with Patterns

Explanation Series Sudoku combined with patterns.

This Sudoku variant has a number of series, with three numbers each.

At these series the difference between the first and the Second and the Second is and the third number is
always identical.

For example:

1 2 3 differences = 1

15 9 differences = 4

5 3 1 differences = -2

0w &~ (=] co|n |k
I (=~ R0 W (U] (S| =

n(w(ol=d|= DN ||
oo (= [ P2 (n |||~ |D
B | [N D P [k n [ — |00
= (oW |~
0 | (D] | (=I]l= (b |tn
P OR[GO = (M O] (GO |
N R [ = On (00| P )l=~d || Ld

2

Moreover all normal Sudoku rules apply also to these Sudoku variant.

Horizontal series, always 3 positions long, are indicated with a horizontal beam (under the series):
7

=== filled: 11 |- 4

Vertical series, always 3 positions long, are indicated with a vertical beam (left of the series): ﬁ
8
9

filled: 121

The diagonal series (always starting left above and ending Right under and always 3 positions long) are

outside the patterns marked in grey: +—.

Within these patterns the diagonal series are marked in a colour a little bit more dark as the colour of the
series itself.
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For instance; 12119 1, 2 and 3 is the diagonal series (7-8-9).
3

Totally this Sudoku has 7 diagonal, 6 horizontal and 6 vertical series.

The possible series are:

1-2-3 1-3-5 1-4-7 1-5-9
2-3-4 2-4-6 2-5-8
3-2-1 3-4-5 3-5-7 3-6-9
4-3-2 4-5-6 4-6-8
5-3-1 5-4-3 5-6-7 5-7-9
6-4-2 6-5-4 6-7-8
7-4-1 7-5-3 7-6-5 7-8-9
8-5-2 8-6-4 8-7-6
9-5-1 9-6-3 9-7-5 9-8-7

There are four Patterns, each 3 by 3 positions::

I T2

415 A patterns contain the numbers 1 t/m 9 once.

Solution:

0w &~ (=] co|n |k
I (=~ R0 W (U] (S| =

n(w(ol=d|= DN ||
oo (= [ P2 (n |||~ |D

(||| B (s ]n| = |0
(B nj | (P | |~

0 [ (WO |2 [ =]|= M| LN
Nt M (O] |0 h
(P [ =] n |00 | ]~ |D |

4

The diagonal series 6-?-? Possible series are: 6-4-2, 6-5-4 or 6-7-8.
6-4-2 and 6-5-4 are impossible because row 8 already has the numbers 4 and 5.
So the solution is: 6-7-8.
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The vertical series S possible series are: 1-3-5, 2-4-5, 7-6-5 or 9-7-5.

7-6-5 is impossible because row 7 has already a number 7.

2-4-5 is impossible because the Pattern right below already has a number 4. .

9-7- is impossible because the Pattern right below already has a number 7, filled in the first solution. So
the solution is: 1-3-5.

Etcetera. .....

The first numbers are mostly found from the series, later on in the solution the numbers are found using
the Sudoku rules and the patterns.

This Sudoku variant can also be made in 16 by 16 format:

16[42[10[15[2 [1][6 |3 [14[13[7 [11] 94 [ 5[ 8 |t smies, . L b o iy e as
3 7135 [#8[ o [8 [@] 21 [16[15[12[1110] = o i sin rer sen cos
& va| 5 |2 {rs|v1|i@e| s @0 |17 o[ | | i fih Gif R EH A
9 |11)8]1[7[4]13/0] 6 5 [42/15|14/16] 3 3.3 8.3 5 63 193 1o 3 12 b 4
T4 [R[1a[70[12] 3| s |« [W[16[5 62|/ o 178| £ Fif £iEEDEE
12| 5 |96 [14[16[15| 2 [11[7] 8 | 3 [@[13[10[ 1 | ;2% i rum owwEw mEn oEnn
8430|517 |2]15/13]10]12[6[16[14]-2 1w et e
1]15] 2 [16[11] 6 [10[13[12] 9 [14] 4[5 |3 [B] 7 |1 ; i wiy ot
3110141816 1M2112 0 1151111 2 | 71161 5 | 1 [13] ieas 1ot i e
51 [12[14|13]7| 4 [15[16[3 6 | 8 [10[ 0 | 2 [11| =T FETTT
11/13[ 6|9 |8[[2|16( 510/ 1[4 [12] 7[14[15 3| =5 &=naisie S0 s
15 2 [16] 7 |1 |10['s 11[1s[14 o [B 68 alra| /= iR PRI
78 [14]12(4 [13] 5 |1 [9]10] 3 | 2 [11[15]8]16] — s 3% Iid wsu s 5 o 0
2|9 [11][5 3 [15] 7 6 8 [12]16] 1 [13[10[14[@]| — ~ 1 Sws v raeas s
13[16| 1[4 [10] 8 |11/12[ B 6 [15]14] 3| 2 | 7| 9 | — = Hiric Jiai it Loy o™
10[ 6 [15[ 3 [16] o | 2 [14] 7 [@11]13] 8 [ 1 [12[ 5| = = T

Page 114 of 158 version: 3.0 10-8-2014



_Suduku

Plaza

=

. : =T .“.-.-—.'C'S.-._r-" i
AN | ‘-".'(-; I TR ﬂ_‘ _':_"T e —_ ©

25.2 Series Sudokus with Summation

Explanation Series Sudoku with known Summations of 3 horizontal positions.

This Sudoku variant contains a number of series, always at three positions in the Sudoku.
At these series the difference between the first and the Second and the Second and the third number is

identical.
For example:

12 3 difference =1
159 difference =4
5 3 1 difference = -2

4]

M (OO (= W

~l |

2

WO N AN (O |-
== (N (D | (NJ00 (WO
O (OIe0|= W~ &~ N

O = IR |W (A~ (NN
N |~ |G = | |O | (|00
00 OIN|A|N =W D
~l (3 (NN |WO (D= 00 ||=
D (A=l (N O

o R

Moreover all normal Sudoku rules apply to these Sudoku variant.

Horizontal ranges, always 3 positions long

are indicated with a horizontal beam (under the series):

i filled in gives:

9/8l|”l7

Vertical ranges, always 3 positions long, are indicated with a horizontal beam (left of the series): ﬁ filled

2

5
8

in gives: 1

The diagonal ranges (always from left above to Right under and always 3 positions long) are indicated

with a grey background color: +4—.

11142 2
3| [2]5 3
For instance: 7 9|3 1, 2 and 3 is the series (1-2-3).
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Totally these Sudoku contains 2 diagonal, 6 horizontal and 7 vertical series.

The possible series are:

1-2-3 1-3-5 1-4-7 1-5-9
2-3-4 2-4-6 2-5-8
3-2-1 3-4-5 3-5-7 3-6-9
4-3-2 4-5-6 4-6-8
5-3-1 5-4-3 5-6-7 5-7-9
6-4-2 6-5-4 6-7-8
7-4-1 7-5-3 7-6-5 7-8-9
8-5-2 8-6-4 8-7-6
9-5-1 9-6-3 9-7-5 9-8-7

Summations:

Except series there are also, horizontal, Summations present.

1]5[2['[3]7[8[T6[4]9]] L1 | 19
1+5+2 =8
3+7+8=18
6+4+9=19
Good luck, these puzzles are not simple!!
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25.3 Series Sudokus with Relations

Explanation Series Sudoku with relations.

This Sudoku variant contains a number of series, always at three positions in the Sudoku.
At these series the difference between the first and the Second and the Second and the third number is

identical.

For example:

1 2 3 difference = 1
159 difference =4
5 3 1 difference = -2

3 [ 8 | 5 |7 Helﬂg

I 32|79 6|5 4 {8

} 1{6{8 )8 4 j3 2ul 7

7 9 (4|2 || 8 ;1 5 | 3

y 171 1{6 ¥s ] 2 9 | 4

5 8 7 P2 5 3¢ 8 [[[@7 7| o 116
{ I 6 12 lel3{7 |5 lls 8 | 1

3 0o b | lails|1]3)2|® 7 | s

6 < 5 ICRIERIE 1<9 |8 3>2

Moreover all normal Sudoku rules apply to these Sudoku variant.

are indicated with a horizontal beam (under the series):

Horizontal ranges, always 3 posi'gions long

=== filled in gives:

9 )7
:

§

Vertical ranges, always 3 positions long, are indicated with a horizontal beam (left of the series):

[

in gives:

filled

The diagonal ranges (always from left above to Right under and always 3 positions long) are indicated

with a grey background color:
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4?9l> 2
7 |5 3
3 )2 'ia_

1, 2 and 3 is the series (4-5-6).

Totally these Sudoku contains 3 diagonal, 5 horizontal and 8 vertical series

The possible series are:

1-2-3
2-3-4
3-2-1
4-3-2
5-3-1
6-4-2
7-4-1
8-5-2
9-5-1

1-3-5
2-4-6
3-4-5
4-5-6
5-4-3
6-5-4
7-5-3
8-6-4
9-6-3

Relations:

Except series the Sudoku contains so called relations between the different horizontal positions in the

1-4-7
2-5-8
3-5-7
4-6-8
5-6-7
6-7-8
7-6-5
8-7-6
9-7-5

Sudoku, for example:

1-5-9

3-6-9

5-7-9

7-8-9

9-8-7

e

Etcetera.

The position left of the 8 is smaller than 8 ...< 8
The position right of the 3 is smaller than 3 3>
The position right of the 9 is smaller than 9 9 >...
The position left of the 2is greater than 2 > 2
Good luck, these puzzles are not simple!!
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Word Sudokus

Sudoku:

Available letters: ADEHIORTU

Available Words:

ADD AHA AID AIR
EAT ERA ERR HAT
OAR ODD OUT RAT
TAR TEA THE TIE

ART
HIT
RID
TOE

DIE
HOE
ROD
TOO

DOT DUE EAR
HUE HUT IRE
ROE ROT RUE
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Available letters

Available
ADD AHA
EAT ERA
OAR QDD
TAR TEA

A|TIEID|T|R|O|U|H
DIR|O|H|A[U[T]|T|E
I |lU|H|E|T|O|A[D|R
EIAIR|U|H|I|D|O|T
UlD|T|O|E[A[R]HI
olH| I |R|D|T|EJA|U
RIO|A|T|U|E|H|T|D
HIE|U|I|O|D|T|R[A
T|1|D|A[R|H|U]E]O
-ADEHIORTU
f:j;ds};lR ARE ART DIE DOT DUE EAR
ERR HAT HER HIT HOE HUE HUT IRE
QUT RAT RED RID ROD ROE EROT RUE
THE TIE TIT TOE TOO

In this Sudoku variant numbers are replaced by letters. Each letter is available once at each row,
column and block. Moreover, the Sudoku contents some words, all composed with three letters.
At the footer of the Sudoku, the available letters (nine) as well as all possible words can occur in
this Sudoku are printed. A word can be present several times in the Sudoku.

Words can occur horizontal (horizontal, brown, bar) and vertical (vertical, brown, bar).

An other variant gives also diagonal words (grey background)
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Solution (upper part):

=

A[TIE|D] I
DIR[O[H]A
| [U[H|E[T
E[A[R|UH
ulp|T]olE
o|[H[I1|R|D

The vertical words are Die and The (brown bar).
The horizontal words are Ear end Toe (brown bar.
The diagonal words are: Rod, Hue and Toe (Grey background).

This Sudoku variant can also be made in 16 by 16 format:

XIPCIDIOTH[ I |Y[STA[N[V[R[G|E|T |mamerme o o
HIR[O|V|P|N[A[C|G[T|[E|I[Y|X[S|D]|cs o = = o = o o o
I [e|N[T|[s|X[E|D|R|Y[H|P|c|Oo|V[A|zr = m m xp ;s o s mo
SYEARGTvcbnxulHF%%%E%%%%%
E[N|Y|G[A|P|S|H|X|V|[I|O|D[R[T|C|SF B R m =& ® &
TIo[H|X[1[Y]c|e|N|[s|P R[A[E|O|V|™ = = = = =
PI[I|R|s|[D|O|V[EA[H|c|T|G|N|[Y[X
ClA|V|O|T|R|[X|N|Y|[E|G|D|H[S[PI

R X|P CIN|S| D A|E|G|V|Y|O|T|I H
ViT|G|E|c|I|[H|o|[P|R|A|S|X|Y|D|N
Alo|D|N[¥[Vv]e|T[1|c|X|H|S|P[R]|E

Y s|i|H|[x[E[R|P|o|D|T|N|V c|a]G
O|E|A|R|H|T|N|I|V|X|Y|C|P| D|G|S

N H|S|I|E|A|o|x[DP|R|G|T|V c]|Y
Glc|x|Y|[v|D|[P|[s|T|1|Oo[A|E[H|[N|R
DV|T|P|c|c|Y|R|[H[N|S|E|1[A[X]|O
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26 Combination Sudokus

Explanation:

©

This Sudoku type is a traditional Sudoku (in various degree of difficulty) combined with
81 letters. Out of these letters the challenge is to find the eight corresponding words,

each with a length of nine letters.

The Sudoku:

| EEO |CNP |HDT |
| BAA | CEO | SPW|
| AT.A |RDP | GAC |
| SOO | REA | ENU |
| TAU | TAL | RNE |
| PCD |UZE |RLI |
| ICD | HET | EOO|
| SETI |RTN | SAS |

| COR|LIH|LSA|
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First solve the Sudoku:

WO (=IO ONOINAIN
DN (N0 | W (AN |=|©
OINILALININ=O|00|W
NIN(WIAR|=_N]O | |00
V= OIN|O(WIAINOD:
NEA(DJOINOO|IW|N|—

|EEO | CNP | HDT |
| BAA|CEO | SPW |
| ALA | RDP | GAC |
| SOO | REA | ENU |
| TAU | TAL | RNE |
| PCD | UZE | RLI |
| ICD|HFT | EOO |
| SEI |RTN | SAS |
|COR|LIH|LSA|

The letters making the first word can be found out of the position of the 1 in the Sudoku: See
above. The letters are: TELARDHAC, the positions of the 2 in the Sudoku make the second
word, etcetera.

After that out of these letters words must be formed. The first word is;: CATHEDRAL.
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The total solution is:

714/612(9(3|8|5|1]| CATHEDRAL
9/3/(514/1/816|2|7| seEcTacLE
8(1(2|7|5|6]19|4|3| APPLIANCE
2(6(7]19|4|1]|5|3|8| STREETCAR
4(8|9|5(3(7|1|6|2]| CANDIDATE
3/5(1]|6|8|2]4|7|9| porsonNous
512(8|1|7|4]13|9|6| FOLLOWERS
6/9(3|8|2|5]|7|1|4| HrzarDOUS
117141369 ]|2|8|5| NEIGHBOUR
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27 Symbol Sudokus

Explanation Sudoku with symbols:

Totally there are nine different symbols, namely:

\N |/
_#_
/1 \

Four diagonals, a vertical line upwards, a vertical line downwards, a horizontal line to the left, a
horizontal line to the right and a little block. in the middle. All these nine symbols are printed in
a different color. In each row, column and block these symbols are find three times, totaly 27
symbols. In fact the Sudoku consist of three combined Sudokus

For example (solution, in a row):
ANEN EEENEE RO

For example (solution, in a block):

: I

<

For example (solution, in a column):

>
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The total Puzzle looks like:

1< '

NV

/__\_/I_

_—r

1

1 |
\ I\;|||||'>I

The positions with a grey background consist already three symbols, so are already solved.

AN I
7 NN i i

The solution looks like:

[PTHCETL
RO
S e B
1 I
I\TKEQJ1.|A1
- 1 |
_L\'I"PI
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28 Labyrinth

Explanation Labyrinth:

11 ] = I'_I L L
r—' = o I'_I ' I
C s 11 ai=i= ]

= o 1| ™ L
I ] 1] adi=l=
L~ 1| [ I'_I -

— | b M = '

HEREN . L A L .

1 - MM e

The starting point is the gray block at the left top, the finish is situated right under (in red).
At any position is a horizontal (left or right) and vertical (top or bottom) direction printed.

For example: means a way to the right and upwards.

_I in this case there is a way to the left and downwards.

The solution (in red, with a total of 16 steps) looks like this:

1 Doolhof Oplossing (16 Stap/

_I_I_I_I I'_II'_L
F_I_II'I'_II' I
FL'I'_ILLLI'
- [] 1 I'L

I ] I_I_I 1
L= 1 I'I'_I_I
i I'I'_I_II'
S - A A Y A
1 I__I_I_I H d

This kind of puzzle can be made in different formats up to 25 by 25.
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Explanation:

Find the two positions that are completely equal:

_‘5/‘_|_V_||\/|\V'\

' IV
] NN N
AP ERER

S

Solution: see the two positions with a red back color:

B, BFYH NEONTS
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30 Binairy Sudokus

This Sudoku variant contains the numbers 0 and 1. Only two equal numbers can be placed next to each
other (horizontal en vertical). In each row and column the numbers of fields filled with 0 are equal with
the ones filled with 1.

Example:

el =l = L =i = I = B
=1 =1 Y= = =1 = ="
O | |- ([ D - (DO —
=l Al =A== =
= A=A =R A = R ]

=1 =1 = ==Y .

el =A== = | =]

Q=20 =20=20|0 (==

Solutions:

L [1[a] [ |
There are two fields filled with a 1 next to each other, so left and right the solution is: 0.
[0[11fof |

L [1] [a] |

Only a 0 can be placed between the two fields filled with 1.
[ [1Jofa] |
[ [1[ Ja1fJ1Jo[1fo] [1]

The five numbers 1 are already filled so all the empty fields must be: 0.
[o0f1fJofaJaJof1Jofo[1]

L1 ]AfJofa[BfC[1[0]0[]1]
This row the number 0 must be filled once and the number 0 twice. Two numbers 1 cannot both be filled
at position B and C so the solution at position A is 1.
(1 1]JoJaf] [ Ja1Jofof1]

[AlBJoOJ1[1[C[DJ[EJ1]F]
This row must be completed with two times 1 and four times 0.
At the fields A and B at least one 1 is needed, two zeros are not possible. The fields C, D and E must be
| fiIIe(‘JI Witf‘l at Ie“alst on‘e nun‘wber 1‘ as w‘ell. A‘t posi‘tion F‘ only a 0 can be placed.
0|11 110
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30.1 Binary Sudoku with vertical patterns:

1 1/0(1({0(0(1|0)1|0|1(0
0 oj17/0(1/1/0(1{1)0|0/|1
0|1 1|]0(0|{1/0({1]0|1|1]|0
1 1/0({1|1/0|1(0|0|1|/0]1
0 o|1(o0(0|1|1|0|1]0/0(1
110 1/11|0/1/0(1|01(1|0
0|1 o(1|1(0j0 (1|00 |1]1
0 o|j1/0(0{1/1({0|1}|1|0]|0
1 0 o|1/0/0{1(0|1|1|0|0
110 o(of1|1j0|1j0|0 (1|1
0 1 1j0/1|0/1|0)1|0(1][1
1 1/]0/1/0/1|0(1)0|1|/0]|0
0|1 1|0/1|{0/0|1[1]|0|1]|1
110 0|1(1|0|1|0|0|1|0|0O

This Sudoku variant has an extra rule, at the colored fields with equal color the numbers of fields filled
with 0 must be equal with the ones filled with 1. So the blue fields in column one and two contain seven
times a 1 and seven times a 0. The same applies to the white fields in column one and two.
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30.2 Binary Sudoku with vertical and horizontal patterns:

01 110 1/0(1|0 110
111 111 0|1 1 00
0|0 0|0 0|1 011/0|1
1(1/01/0[0/1/0[1]1
110 110(1|{0(1/0]|1 00
1.0 0100110 110
0|1 0|1/0{1|0(1|0]0(1]1
1/0 1/0(1|0(1[0]1 01
111 0|1/0{1]0(1]0 00
0[O0 ojo(1/0|1(1|0 111
10 1(1/]0(1(0]0|1 10
01 1(0[1/0(1[0]1 0|0
110 0/(0|1{1(0|1]0 01
01 0|1/01]0|0(1 111

This variant has one extra rule, the horizontal fields marked with a color at the bottom the numbers of 1
are equal to that with 0.

At row one and two the fields are filed with: I===f.
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30.3 Dinary Sudoku:

A Dinary Sudoku is a Binary Sudoku, containing all the rules of a Binary Sudoku, with the addition
that in the diagonals the numbers 0 and 1 can only appear with two equal nhumbers side by side.

Diagonals start at top left to bottom right.

REDRLE 1{o]0 1]R]0[1
1N | 1]0[1]1 011 0N |0
01N [0o|1[1]0 1]0]0 1N
u1u\uu11 1|1 1
110 1]JON[1[1]0]0 1100
0[1]0 1N [0|0]1]1 0|10
0 o[1[1[0 1(1]0]0 1|0
0|1 1(0]0[1 u11u\o\1
101 o[1[1]0 BIERERERY)
1u\1uu1 1101
0 u11\o\u1u1 0|01
{0 1[oJoN(Jofo|1]0 1[0
1\{1 u1u\1\1uu1 1
o(1N|1T1(ol1]1N0|0|1]0]1T0
The diagonals are marked with arrows.
oo 0 1] [0
1 0 1 0
0|1 0 0 0
1|0 001 1
1]0 PEIERERY 1
1 1 0 1(1(0|0f1]0
of1]0 1[0 0 0
0|1 0 0|1 o| [1
10 1 0|01 0
0 1|1 0 0 0|1
0 1 0 1
1 1 0 0
0 01 0
1 10| [1 0|1
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31 Honeycomb Sudoku

Explanation:
Solution:
2 4
Zssl /3\ 1 \
41 34 5 T2 631,x
\24// 6|1 3|5,
3 1 4 5 2 6P
%l HE| 4 ¥
46 4§ 1 2: 5 32}
ot 1 ela T Tkl LT
</ 6 4I\sa/ nE'd
{ 21213 646 T4 415|\\
413 e Iy UE )L 4p
N4 1 5 /
{2 ) L 5 Pp - 6 Ey AL
N 2 5 HEIN
AE ¢ AL eI s 2P
%IE 6 3| 4 ¥
44 63 3 12 5 264’
N 4 6 EIN
/313 5§2"2 4;6"6 }>
6 1 4] 5,
<< 51& 54& ZEEN
6186 e A D
u/ u/ lﬁj

This Sudoku variant uses the numbers 1, 2, 3, 4, 5 and 6.

In the hexagon the numbers 1 up to and including 6 are once prevented.

5
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In the horizontal rows marked with the different background colors the numbers 1 up to and including 6
are once prevented

The blue background color:
Iﬁla\ /I3|a\ /I‘Ila

The green background color:

216~ "1 N2l3 7 [']1 Nsl4
The yellow background color:

TaTad LI 2Tl || 21T
The red background color:

leld 7 "I Nald 7 [ Nels

In the vertical columns market with right angels with the border colors blue and red, this rule is used as
well.

{7 8D
N V1
AN N
16 5P
N V
M ‘\>
151 _ V.
N T5Td 4|6 V]
AN N
12| J214 1513 |2p
N Tld 1114 V

( N
:g 3 3 1P
N 6l 2|1 V
AN N
{al 4|3 l6ld 3D
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The puzzle looks like:

5| ¢ 3| 4 1] 4
Al e 1w [ e
A ""3/ 8K 4 yang 6P
%It 5|3 4] 6] L/
{ 4 1 2 35;
s 2 446"3/ 6K 1 }>
%IG 24'\ 5|3 ¥
45 g 6: 1 4
e 6 s 1 ) e >>
|4 1] 3| 5 /
<<5 1; 5 4: ’ 33 S
1 4 3 6 2P
<gf 6 365I\12 53 264’/
N 4 6 EIN
31975 s K Py AL 1P
%IBE 5 szl\ L/
{ ) 2 L 4 P o B 4
{ 1§\ 4d\ HEIN
_ DL, sHZL D
Nid” Nelg”  Nd/
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32 Triangle puzzle.

Explanation.
Solution:
£ | 39 g | 1 4| 7
7| 2 4| 2 6 | 3 g
B 1 B ] 4 2 5
3 | 3 6 | 1 8|7 3
8
5
4
: &
P
3 6| 8 6§ | 7 4| 7
1| 3 4| 7 3|9

This puzzle uses the numbers 1 up to and including 9.
Each number can appear only once at a crossing market with a square.

Qo

De sum of the numbers is always: 30, (in this example 3+1+8+6+5+7=30)
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The puzzle looks like:
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33 Spider Sudoku.

Explanation Spider Sudoku (Spidoku).

Solution:




uuuuuuuuuuu

Puzzle:
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33.1 Spider Sudoku with patterns.

Solution:
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34 Octagon Sudoku

Explanation octagon Sudoku.

Solution:

Explanation:

This Sudoku variant contains the numbers: 1 till 5.

In the grey and yellow squares (5 by 5) the numbers 1 till 5 are horizontally and vertically found once
(grey and yellow lines).

In the red squares (left and Right) the numbers 1 till 5 are vertically present ones (red lines).

In the green squares (top and bottom) the numbers 1 till 5 are horizontally present ones (green lines).

In the white octagons horizontally (10 times) and vertically (10 times) the number 1 till 5 are horizontally
and vertically present ones (black lines).

Around the octagons the numbers 1 are till 5 are present ones.
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Puzzle:

o Wy | Eﬁ
uﬁﬁﬁuﬁuﬁ B
@ o@u@n D>l

!’f =-
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35 Dudoku (diagonal Sudoku)

Solution:

—

200N W|IN oM

9/3/4(5/6|8
9,7,2,1/8,9,4
492,5/6,9,3 1
9,5y4,8/7,2,6
8,4,6y9,3/1,7
7;,3,1,246,45
316,9,7,1482
6,1,8,5/2,743
8,7,3,4,5,9

<

N
= | ©

Explanation:
This Sudoku variant has the same rules as the traditional Sudoku in term of that numbers 1 to 9 can

appear only once in a column and a row (see the red dimension lines).

In every diagonal (with white or green background color, from left above to right underneath, marked
with yellow dimension lines) a number can appear only once.

So the diagonal in the center (grey background showed in blue dimension lines) contains de numbers 1 to
9 only once.

Puzzle:
7 9 4 8
3 2 4
2|5 9 7
1 2|6
4 17
1|2 5
5 7
6 5 9
2 5
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36 Tartan Sudoku.

This Sudoku variant derives its name from a tartan-like layout in which it is presented..

Explanation:

Deze Sudoku variant bevat de cijfers: 1 t/m 9.

Alle regels (cijfer mag maar één maal voorkomen per rij, kolom en blok) die gelden voor de klassieke
Sudoku zijn hier ook van toepassing.

Op elke positie (totaal zijn er 81) zijn negen blokjes aanwezig, elk cijfer is altijd op dezelfde positie
(blokje) geplaatst:

This Sudoku variant contains the numbers 1 till 9.

All rules (numbers may occur only once in each row, column and block) that apply to the classic Sudoku
are also applicable here.

At each position (total of 81) nine blocks are present, each number is always in the same position (block)
posted:

1 2 3
4.5
7 89

The 1 top left, beside the 2, then 3, 4 in the first position of the second row and so on.

In the puzzle are 3 background colors (white, gray and red) are present in an area with the same
background color only one number is allowed.

For example:

l? e

AN C

B

In the part with the white background color in the middle 4 blocks are present.

Top left is the 9 is filled in, this implies that the other three blocks may not contain any number.
This includes the right top 7, so position A cannot contain number 7.

This includes the 3 bottom left, so position B cannot contain 3.

This concerns the bottom right one, so position C cannot contain 1.
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In areas with a gray background, with 2 blocks horizontally or vertically, applies:

A

2

The filled in number 2 at the location of the lower position implies that at the position A cannot be filled
with the number 8.

Puzzle:
2
N N BN BN BN BN e e
?
N BN BN B B B E e
8
2
N N BN BN B B e e
7
1
NN NN BN BN BE BN BE e
7 1 9
3
NN NN BN BN BE BN BE e
8
P I I O I I P I
2
% I I I O I I I O
7 1 @
DO I I - I I
8 | 17
2
D I B I T P R B
7
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Solution:

2
]

L6

7

2
N

4 | [

3

2

+40 | B | ®H

8

] s

9

s | BB =

!

7

9

4 | | s

3

1

9

4. | 5

8

6

4 | V| s

7

L6

1

8

40 (BB E[E 2] E

a s | B He

10-8-2014

version: 3.0
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37 Sudoku with Magic square.

This variant is a traditional Sudoku combined with a magic square (five by five positions). A number can
appear only once in every row, column and block.

Solution of the Sudoku:

w

NOoOOAE = OI0 (W
N (= (WO |O(NJO | A0
2ODIN | W(ooI= N ;M
O WIN= (A (DN
N PLOJIOINOOIW|N|—
= DN W |~ |NJOO | | ©

DAIN|RAJO (N0 |©

Explanation:

In the Block in the middle (five by five positions) the sum of the numbers (horizontal and vertical) is
always 25.

Horizontal, third row: 5+6+9+1+4 = 25
Horizontal, fourth row: 1+9+2+8+5 =25
Etcetera.

Vertical third column 5+1+7+8+4 =25
Vertical , fourth column row: 6+9+1+4+5 =25
Etcetera.
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oA =00 | wW|N
= (W (DN |~

ODIN (W= N | O
WIN]= 00| HA (DN

ONOIO (N[ WIN|= &
OO NO|W|IN|[—
= (DIN|W [~ (N0 | 0|

w
o
N
~
IS
©
o

Because the sum of each full row and column (nine positions) is 45, the sum of the remaining four
positions in a row and column is: 20

Horizontal third line: 2 +7 +3 +8 = 20

Vertical third column: 3 +9 +2 +6 = 20

Sudoku

6|3 2

=
~J

N
o
o})
ﬂ
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Solution examples:

6|3 2

LN
~

BEERGRE B
3] || 5] |7

In the top line of the magic square the 6, 9 and 1 are filled in; the sum = 16.

Remains for the other two positions: 25-16 = 9, possible is: 1 and 8 or 2 and 7 or 6 and 3 or 4 and 5, the 1
is already present so 1 and 8 is not possible.

The 6 and 3 cannot be completed on the first position in the top row of the magic square, are already
present in the left upper block, so 3 and 6 is not possible.

2 and 7 are already filled in the right block so the combination 2 and 7 is also not possible.

Therefore remains 4 and 5. 5 cannot be filled in at the most right position because that number is already

filled in the 7th column.

The solution is therefore:

6|3 2

=
~J
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3 5

6 8

7
4

[ T17 I5] 16|z | |

|

[7(5]2 4

In the fifth row in the columns 8 and 9, the 2 and 4 filled.

In this row the sum of the digits in positions 1, 2, 8 and 9 is: 20.

So, the sum of the digits in the first and second column is: 20 - 6 = 14.

Possible is: 9 and 5 or 8 and 6.

8 and 6 is impossible because these numbers are both already found in the left block.
Remains the combination: 9 and 5,

Because the 5 already present in the second column, the solution is:

3 5 7
5|9 24

»
(o

1 5 617
7152 4

In addition to the solution based on the properties of the magic square all the solution methods of a
traditional methods are needed to solve the puzzle.
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38 Tic Tac Toe Sudoku.

S e T
= ©

This Sudoku variant is based on the Tic Tac Toe game.

Explanation:

This Sudoku consists of 64 (8 by 8) positions.
Each position has to be filled with three crosses.
There are 8 different variants; three horizontal and three vertical rows and two diagonals.

In a row Looks like:

X X X | X|X X X
X X X XX X X
X X X X X X X

Each variant can appear once in a row, column and Block (four columns and two rows).
This is in accordance with the Sudoku rules.

The solution of a puzzle looks like this:

X

AR

X

X

;

=

=

= |
= =

ke

b e

=

= P

AR AAT

g et bt b

b

-

H
=

| e

>,

-

b b
=

= e e

=

-

=

=

= %
= %

e

b =

H
| =
= P

b i b B

= P

= o P

==

= e =

=

b b e

B
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In addition to the solution methods of a traditional Sudoku there are the following, additional, methods to
solve the puzzle:

X X X X|X X X X
X X X XXX X] X
X X X X X

On each of the 64 positions a cross can be places in a sub-positions.
At each position tree crosses must be filled in.

If two sub-positions are filled with crosses the solution can be found immediately:

For example (Red is the solution, black was already filled):

X X [ X | X X

X X

X X

Per row, column and block are 3 * 8 = 24 crosses present in the solution.
The number of possible crosses varies for each sub-position, and looks like this:

3123
214|2
3123

On sub-positions where only two crosses can occur the solution can be found on the most easy way, for
example (considered a row):

Then the solution is, marked in red:

X
X
X
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At sub-positions with three possible crosses:

X X | X | X X

X

X

The Solution is (marked in red):

X X [ X X

X

XXX

In the sub-positions, in the middle, with four possible crosses:

X X

X | X |X X X X

X X

The Solution is (marked in red):

X X X

X | X | X X X X

X X X

Tip to solve the puzzle:

Highlight the possible sub-positions with a dot, for example:

X ° °
X | X | X X X
X ° °
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The complete puzzle looks like:

X| X
X XX
X
X
X X
X
X
X
X X
X X X
X
X X X X
X X
X X
X X X
X X X
X X X
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Explanation:

This Sudoku contains nine rows and columns.
In each row and column (not in blocks) the nine symbols (eight lines and one point symbol) are one time
present.

The lines (two horizontal, two vertical and four diagonals) are connected with the related positions.
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Situation at the edges of the puzzle:

1. Horizontal and vertical lines:

T B

/

When the First column contains a horizontal line, from the middle to the left [A], the left connecting
position must be a horizontal line, from the middle to the right [B]. Because this position is outside the
puzzle the symbol [B] cannot be places with using the convention of the connected lines. So symbol [B]
can only be placed in last column of that row.

This rule is also used with vertical Lines in the columns.

2. Diagonals:

// B

/

Diagonal [B] must be placed Left under diagonal [A].
In this example this position is outside the Sudoku. in this case diagonal [B] must be placed in the last
column of the next row [C .. B]..

Left above diagonal [C] diagonal [D] must be placed. This position is outside the puzzle so diagonal [D]
must be placed in the last column of the row above [A ..D].

This rule is also used in the columns.
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The puzzle looks like:
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The solution is:

I/ . ", /
- —
N #
/ ] h
- // /— —
a N
/ . \
- —
A~
-
N i
f,f"x
— N
g s
N
e A
",
7\_ >
/ /- . ~
. f— |
o o ~ o
./ / —
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